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«�5 >5D47>64=<< 6 $>EE<=E>>= $545D4F<<» ?D>D5EE<>=4?L=>5 >5GG5=<5 < 

?D>D5EE<>=4?L=>5 >5D47>64=<5 >5GG4NM<EEO E >7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO 

>EGM5EF6?ONFEO =4 >E=>65 >5D47>64F5?L=OE ?D>7D4<<, 444?F<D>64==OE ?D< 

=5>5E>4<<>EF< 4?O >5GG5=<O G>474==OE >5GG4NM<EEO, 4 4?O <=64?<4>6 F4>65 6 

E>>F65FEF6<< E <=4<6<4G4?L=>= ?D>7D4<<>= D545<?<F4F<<. 

�44?F<D>64==4O >E=>6=4O ?D>D5EE<>=4?L=4O >5D47>64F5?L=4O ?D>7D4<<4 3 

>5D47>64F5?L=4O ?D>7D4<<4, 444?F<D>64==4O 4?O >5GG5=<O ?<F E >7D4=<G5==O<< 

6>7<>6=>EFO<< 74>D>6LO E GG5F>< >E>55==>EF5= <E ?E<E>D<7<G5E>>7> D476<F<O, 

<=4<6<4G4?L=OE 6>7<>6=>EF5= < ?D< =5>5E>4<<>EF< >55E?5G<64NM4O >>DD5>F<N 

=4DGL5=<= D476<F<O < E>F<4?L=GN 444?F4F<N G>474==OE ?<F (?.28. %F.2 $545D4?L=>7> 

74>>=4 >F 29 45>45DO 2012 7. 7 273-$� «�5 >5D47>64=<< 6 $>EE<=E>>= $545D4F<<»). 

�44?F<D>64==4O >E=>6=4O ?D>D5EE<>=4?L=4O >5D47>64F5?L=4O ?D>7D4<<4 6 

E>>F65FEF6<< E ?D<>47>< �<=>5D=4G>< $>EE<< >F 19 45>45DO 2013 7. 7 1367) ?D54EF46?O5F 

E>5>= >><??5>E GG55=>-<5F>4<G5E>>= 4>>G<5=F4F<<, D57?4<5=F<DGNM<= E>45D64=<5, 

>D74=<74F<N < >F5=>G >4G5EF64 ?>47>F>6>< >5GG4NM<EEO < 6O?GE>=<>>6 E 

>7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO < <=64?<4>6 ?> =4?D46?5=<N ?>47>F>6>< 

(E?5F<4?L=>EF<) 6OEL57> >5D47>64=<O. 

����� 4>?6=4 >55E?5G<FL D>D<<D>64=<5 G >5GG4NM<EEO E >7D4=<G5==O<< 

6>7<>6=>EFO<< 74>D>6LO < >5GG4NM<EEO <=64?<4>6 >><?5F5=F<=, GEF4=>6?5==OE 

E>>F65FEF6GNM<<< D545D4?L=O<< 7>EG44DEF65==O<< >5D47>64F5?L=O<< EF4=44DF4<< 

6OEL57> >5D47>64=<O ?> E>>F65FEF6GNM5<G =4?D46?5=<N ?>47>F>6>< (E?5F<4?L=>EF<). 

�D< D47D45>F>5 ����� >E=>6>?>?474NM<< GE?>6<5< O6?O5FEO ?>?>65=<5 ?. 10. %F. 

79 $545D4?L=>7> 74>>=4 >F 29 45>45DO 2012 7. 7 273-$� «�5 >5D47>64=<< 6 $>EE<=E>>= 

$545D4F<<» > F><, GF> ?D>D5EE<>=4?L=O<< >5D47>64F5?L=O<< >D74=<74F<O<< < 

>5D47>64F5?L=O<< >D74=<74F<O<< 6OEL57> >5D47>64=<O, 4 F4>65 >D74=<74F<O<<, 

>EGM5EF6?ONM<<< >5D47>64F5?L=GN 45OF5?L=>EFL ?> >E=>6=O< ?D>7D4<<4< 

?D>D5EE<>=4?L=>7> >5GG5=<O, 4>?6=O 5OFL E>744=O E?5F<4?L=O5 GE?>6<O 4?O ?>?GG5=<O 

<=>?N7<6=>7> >5D47>64=<O >5GG4NM<<<EO E >7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO. 

�5F4?L=>5 GF>G=5=<5 E?5F<4?L=OE GE?>6<= <=>?N7<6=>7> >5D47>64=<O O6?O5FEO 

>4=<< <7 EGM5EF65==OE 4E?5>F>6 D47D45>F>< ����� < >E=>6O645FEO =4 �5F>4<G5E><E 

D5>><5=44F<OE ?> >D74=<74F<< >5D47>64F5?L=>7> ?D>F5EE4 4?O >5GG5=<O <=64?<4>6 < ?<F 

E >7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO, 6 F>< G<E?5 >E=4M5==>EF< >5D47>64F5?L=>7> 

?D>F5EE4 (�<EL<> �<=>5D=4G>< $>EE<< >F 08.04.2014 7. 7��-44/056=.). 

-F< D5>><5=44F<< 6>?NG4NF 6 E55O: 

÷ >D74=<74F<>==>-=>D<4F<6=O5 FD55>64=<O;ð

÷ FD55>64=<O > >44D>6><G >55E?5G5=<N;ð

÷ D45>FG E 45<FGD<5=F4<<-<=64?<44<< < 45<FGD<5=F4<< E >7D4=<G5==O<< 

6>7<>6=>EFO<< 74>D>6LO;ð

÷ 4>EFG?=>EFL 744=<= >5D47>64F5?L=OE >D74=<74F<= < 557>?4E=>5 6 =<E =4E>645=<5;ð

÷ <4F5D<4?L=>-F5E=<G5E>>5 >55E?5G5=<5 >5D47>64F5?L=>7> ?D>F5EE4;ð

÷ 444?F4F<N   >5D47>64F5?L=OE   ?D>7D4<<   < GG55=>-<5F>4<G5E>>7> >55E?5G5=<O 

>5D47>64F5?L=>7> ?D>F5EE4;ð

÷ >D74=<74F<N >5D47>64F5?L=>7> ?D>F5EE4 E <E?>?L7>64=<5< 4<EF4=F<>==OE 

>5D47>64F5?L=OE F5E=>?>7<=;ð

÷ >><??5>E=>5 E>?D>6>645=<5 >5D47>64F5?L=>7> ?D>F5EE4 < 74>D>6L5E55D565=<5.ð

$5>><5=44F<< ?> D47D45>F>5 E?5F<4?L=OE ?D>7D4<< ?D>D5EE<>=4?L=>7> 

>5D47>64=<O, 444?F<D>64==OE 4?O >5GG5=<O <=64?<4>6 < ?<F  E >7D4=<G5==O<< 
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6>7<>6=>EFO<< 74>D>6LO ?D<6>4OFEO F4>65 6 �<EL<5 �<=>5D=4G>< $>EE<< >F 26.03.2014 

7. 7 ���-�-1159 «� D47D45>F>5 < 6=54D5=<< E?5F<4?L=OE ?D>7D4<< ?D>D5EE<>=4?L=>7> 

>5D47>64=<O». 

� MF<< D5>><5=44F<O< >F=5E5=O E?54GNM<5 ?>?>65=<O, >>F>DO5 <>6=> EG<F4FL 

>D<F5D<O<< 444?F<D>64==>= ?D>7D4<<O: 

÷ =4?<G<5 444?F4F<>==OE <>4G?5= (4<EF<??<=) 6 64D<4F<6=>= G4EF< 

>5D47>64F5?L=OE ?D>7D4<<, ?>76>?ONM<E <=4<6<4G4?L=> >>DD5>F<D>64FL =4DGL5=<O 

GG55=OE < >><<G=<>4F<6=OE G<5=<=, ?D>D5EE<>=4?L=>= < E>F<4?L=>= 444?F4F<< 

>5GG4NM<EEO;ð

÷ 6O5>D <5F>4>6 >5GG5=<O, >5GE?>6?5==O= 6 >464>< >F45?L=>< E?GG45 F5?O<< 

>5GG5=<O, <EE>4=O< GD>6=5< <<5NM<EEO 7=4=<=, G<5=<=, =46O>>6, GD>6=5< 

?D>D5EE<>=4?L=>= ?>47>F>6>< ?5447>7>6, <5F>4<G5E>>7> < <4F5D<4?L=>-F5E=<G5E>>7> 

>55E?5G5=<O, >E>55==>EFO<< 6>E?D<OF<O <=D>D<4F<< >5GG4NM<<<EO;ð

÷ >55E?5G5=<5 >5GG4NM<EEO ?5G4F=O<< < M?5>FD>==O<< >5D47>64F5?L=O<< 
D5EGDE4<< 6 D>D<4E, 444?F<D>64==OE > >7D4=<G5=<O< <E 74>D>6LO;ð

÷ 6O5>D <5EF ?D>E>645=<O ?D4>F<>< E GG5F>< D5>><5=44F<= <54<>>-E>F<4?L=>= 

M>E?5DF<7O, E>45D64M<EEO 6 <=4<6<4G4?L=>= ?D>7D4<<5 D545<?<F4F<< <=64?<44 
>F=>E<F5?L=> D5>><5=4>64==OE GE?>6<= < 6<4>6 FDG44;ð

÷ ?D>6545=<5 F5>GM57> >>=FD>?O GE?5645<>EF<, ?D><56GF>G=>= < 7>EG44DEF65==>= 

<F>7>6>= 4FF5EF4F<< >5GG4NM<EEO E GG5F>< >E>55==>EF5= =4DGL5=<= <E 74>D>6LO;ð

÷ D47D45>F>4 ?D< =5>5E>4<<>EF< <=4<6<4G4?L=OE GG55=OE ??4=>6 < 

<=4<6<4G4?L=OE 7D4D<>>6, ?>76>?ONM<E >5GG4FLEO E GG5F>< D47?<G=OE 64D<4=F>6 

?D>6545=<O 74=OF<=: 6 >5D47>64F5?L=>= >D74=<74F<< (6 4>445<<G5E>>= 7DG??5 < 

<=4<6<4G4?L=>) <?< =4 4><G E <E?>?L7>64=<5< 4<EF4=F<>==OE >5D47>64F5?L=OE 

F5E=>?>7<=;ð

÷ >EGM5EF6?5=<5 >><??5>E=>7> E>?D>6>645=<O >5D47>64F5?L=>7> ?D>F5EE4 

<=64?<4>6 6 E>>F65FEF6<< E D5>><5=44F<O<< <54<>>-E>F<4?L=>= M>E?5DF<7O <?< 
?E<E>?>7>-<54<>>-?5447>7<G5E>>= >><<EE<<;ð

÷ GEF4=>6?5=<5 >E>5>7> ?>DO4>4 >E6>5=<O 4<EF<??<=O «D<7<G5E>4O >G?LFGD4» =4 >E=>65 

E>5?N45=<O ?D<=F<?>6 74>D>6L5E55D565=<O < 444?F<6=>= D<7<G5E>>= >G?LFGDO;ð

÷ E>744=<5 F>?5D4=F=>= E>F<>>G?LFGD=>= ED54O, 6>?>=F5DE>>= ?><>M< >5GG4NM<<EO E 

>7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO < <=64?<44<.ð

����� D47D45>F4=4 �>445<<5= E4<>EF>OF5?L=> =4 >E=>65 ���� �>445<<< ?> 

E>>F65FEF6GNM5<G =4?D46?5=<N ?>47>F>6>< E GG5F>< 6OL5G>474==OE <5F>4<G5E><E 

D5>><5=44F<= �<=>5D=4G>< $>EE<<, 4 F4>65 E GG5F>< D54?L=OE GE?>6<= 45OF5?L=>EF< 

�>445<<< 6 E>>F65FEF6<< E >5D47>64F5?L=O<< ?>FD55=>EFO<< < >7D4=<G5=<O<< 74>D>6LO 

>5GG4NM<EEO <=64?<4>6 E >7D4=<G5==O<< 6>7<>6=>EFO<<. 

% F5?LN =4<5>?55 ?>?=>7> < 445>64F=>7> ?>EFD>5=<O �����, >55E?5G<64NM5= 

<=4<6<4G4?L=O= ?>4E>4 > >5D47>64F5?L=O< ?>FD55=>EFO< >5GG4NM57>EO <=64?<44 

45<FGD<5=F E <=64?<4=>EFLN ?D< ?>EFG??5=<< =4 >5GG5=<5 ?D54NO6?O5F <=4<6<4G4?L=GN 

?D>7D4<<G D545<?<F4F<<, E>45D64MGN <=D>D<4F<N > =5>5E>4<<OE E?5F<4?L=OE 

GE?>6<OE >5GG5=<O, 4 F4>65 E6545=<O >F=>E<F5?L=> D5>><5=4>64==OE GE?>6<= < 6<4>6 

FDG44. 

�>>4?L=O5 =>D<4F<6=O5 4>FO �>445<<< ?D54GE<4FD<64NF 6>7<>6=>EFL >5GG5=<O 

<=64?<4>6 E =4DGL5=<O<< ?> >5M5<G GG55=><G ??4=G ����, 444?F<D>64==><G GG55=><G 

??4=G ����� E G4?<=5=<5< ED>>4 >5GG5=<O, <?< <=4<6<4G4?L=><G GG55=><G ??4=G. 

�F?<G<F5?L=>= >E>55==>EFLN ����� �>445<<< O6?ONFEO ?D>7D4<<O 

E>?D>6>645=<O < 444?F4F<>==O5 <>4G?< D>D<<D>64=<O G=<65DE4?L=OE GG55=OE G<5=<= 

< E?5F<4?L=OE >><?5F5=F<=, <<=<<<7<DGNM<E 6OD465==O5 >7D4=<G5=<= 6 ED5D5 

>5GG5=<O < FDG4>6>= 45OF5?L=>EF<, =5>5E>4<<OE >5GG4NM<<EO < 6O?GE>=<>4< E 

<=64?<4=>EFLN < ���. 
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�<F4 E ��� < <=64?<4=>EFLN <<5NF 6>7<>6=>EFL 6O5>D4 444?F4F<>==OE <>4G?5= 

�����, <E?>?L7>64=<O FD55G5<OE 4?O =<E >><?5=E4F>D=OE F5E=<G5E><E ED54EF6, 

<E?>?L7>64=<O 4<EF4=F<>==OE >5D47>64F5?L=OE F5E=>?>7<= < ?D54GE<>FD5==OE GG55=>- 

?D>F5EEG4?L=OE >E>55==>EF5=. 

 
�E?>?L7G5<O5 F5D<<=O, >?D545?5=<O, E>>D4M5=<O 

�=64?<4 - ?<F>, >>F>D>5 <<55F =4DGL5=<5 74>D>6LO E> EF>=><< D4EEFD>=EF6>< 

DG=>F<= >D74=<7<4, >5GE?>6?5==>5 745>?564=<O<<, ?>E?54EF6<O<< FD46< <?< 45D5>F4<<, 

?D<6>4OM55 > >7D4=<G5=<N 6<7=545OF5?L=>EF< < 6O7O64NM55 =5>5E>4<<>EFL 57> 

E>F<4?L=>= 74M<FO. 

�=>?N7<6=>5 >5D47>64=<5 - >55E?5G5=<5 D46=>7> 4>EFG?4 > >5D47>64=<N 4?O 6E5E 

>5GG4NM<EEO E GG5F>< D47=>>5D47<O >E>5OE >5D47>64F5?L=OE ?>FD55=>EF5= < 

<=4<6<4G4?L=OE 6>7<>6=>EF5=. 

�44?F<D>64==4O >E=>6=4O ?D>D5EE<>=4?L=4O >5D47>64F5?L=4O ?D>7D4<<4 - 
>5D47>64F5?L=4O ?D>7D4<<4, 444?F<D>64==4O 4?O >5GG5=<O ?<F E >7D4=<G5==O<< 

6>7<>6=>EFO<< 74>D>6LO < <=64?<4>6 E GG5F>< >E>55==>EF5= <E ?E<E>D<7<G5E>>7> 

D476<F<O, <=4<6<4G4?L=OE 6>7<>6=>EF5= < ?D< =5>5E>4<<>EF< >55E?5G<64NM4O 

>>DD5>F<N =4DGL5=<= D476<F<O < E>F<4?L=GN 444?F4F<N G>474==OE ?<F. 

�44?F4F<>==O= <>4G?L - M?5<5=F 444?F<D>64==>= >5D47>64F5?L=>= ?D>7D4<<O 

6OEL57> >5D47>64=<O, =4?D46?5==O= =4 <<=<<<74F<N < GEFD4=5=<5 6?<O=<O >7D4=<G5=<= 

74>D>6LO ?D< D>D<<D>64=<< =5>5E>4<<OE >><?5F5=F<= >5GG4NM<EEO E >7D4=<G5==O<< 

6>7<>6=>EFO<< 74>D>6LO < >5GG4NM<EEO <=64?<4>6, 4 F4>65 <=4<6<4G4?L=GN >>DD5>F<N 

GG55=OE < >><<G=<>4F<6=OE G<5=<=, E?>E>5EF6GNM<= >E6>5=<N >5D47>64F5?L=>= 

?D>7D4<<O, E>F<4?L=>= < ?D>D5EE<>=4?L=>= 444?F4F<< >5GG4NM<EEO E >7D4=<G5==O<< 

6>7<>6=>EFO<< 74>D>6LO < <=64?<4>6. 

�=4<6<4G4?L=4O ?D>7D4<<4 D545<?<F4F<< (��$) <=64?<44 - D47D45>F4==O= =4 

>E=>65 D5L5=<O �>EG44DEF65==>= E?G65O <54<>>-E>F<4?L=>= M>E?5DF<7O >><??5>E 

>?F<<4?L=OE 4?O <=64?<44 D545<?<F4F<>==OE <5D>?D<OF<=, 6>?NG4NM<= 6 E55O 

>F45?L=O5 6<4O, D>D<O, >5N5<O, ED>>< < ?>DO4>> D54?<74F<< <54<F<=E><E, 

?D>D5EE<>=4?L=OE < 4DG7<E D545<?<F4F<>==OE <5D, =4?D46?5==OE =4 6>EEF4=>6?5=<5, 

>><?5=E4F<N =4DGL5==OE <?< GFD4G5==OE DG=>F<= >D74=<7<4, 6>EEF4=>6?5=<5, 

>><?5=E4F<N E?>E>5=>EF5= <=64?<44 > 6O?>?=5=<N >?D545?5==OE 6<4>6 45OF5?L=>EF<. 

�=4<6<4G4?L=O= GG55=O= ??4= - GG55=O= ??4=, >55E?5G<64NM<= >E6>5=<5 

>5D47>64F5?L=>= ?D>7D4<<O =4 >E=>65 <=4<6<4G4?<74F<< 55 E>45D64=<O E GG5F>< 

>E>55==>EF5= < >5D47>64F5?L=OE ?>FD55=>EF5= >>=>D5F=>7> >5GG4NM57>EO. 

%?5F<4?L=O5 GE?>6<O 4?O ?>?GG5=<O >5D47>64=<O - GE?>6<O >5GG5=<O, 

6>E?<F4=<O < D476<F<O >5GG4NM<EEO E >7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO < 

<=64?<4>6, 6>?NG4NM<5 6 E55O <E?>?L7>64=<5 E?5F<4?L=OE >5D47>64F5?L=OE ?D>7D4<< < 

<5F>4>6 >5GG5=<O < 6>E?<F4=<O, E?5F<4?L=OE GG55=<>>6, GG55=OE ?>E>5<= < 

4<44>F<G5E><E <4F5D<4?>6, E?5F<4?L=OE F5E=<G5E><E ED54EF6 >5GG5=<O >>??5>F<6=>7> < 

<=4<6<4G4?L=>7> ?>?L7>64=<O, ?D54>EF46?5=<5 GE?G7 4EE<EF5=F4 (?><>M=<>4), 

>>47O64NM57> >5GG4NM<<EO =5>5E>4<<GN F5E=<G5E>GN ?><>ML, ?D>6545=<5 7DG??>6OE 

< <=4<6<4G4?L=OE >>DD5>F<>==OE 74=OF<=, >55E?5G5=<5 4>EFG?4 6 744=<O >D74=<74F<=, 

>EGM5EF6?ONM<E >5D47>64F5?L=GN 45OF5?L=>EFL, < 4DG7<5 GE?>6<O, 557 >>F>DOE 

=56>7<>6=> <?< 74FDG4=5=> >E6>5=<5 >5D47>64F5?L=OE ?D>7D4<< >5GG4NM<<<EO E 

>7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO. 

����� 3 444?F<D>64==4O >E=>6=4O >5D47>64F5?L=4O ?D>7D4<<4. 

�5<?<F4F<O 3 <54<>>-E>F<4?L=O5 <5D>?D<OF<O ?> >F=>L5=<N > <=64?<44<, 

=4?D46?5==O5 =4 444?F4F<N <E > 6<7=< (>5D47>64F5?L=>= < >5M5EF65==>= 45OF5?L=>EF<). 

�5GG4NM<=EO E >7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO 3 D<7<G5E>>5 ?<F>, 

<<5NM55 =54>EF4F>< 6 D<7<G5E>>< < (<?<) ?E<E>?>7<G5E>>< D476<F<<, ?>4F65D645==O5 
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?E<E>?>7>-<54<>>-?5447>7<G5E>>= >><<EE<5= < ?D5?OFEF6GNM<5 ?>?GG5=<N >5D47>64=<O 

557 E>744=<O E?5F<4?L=OE GE?>6<=. 

%?5F<4?L=O5 GE?>6<O 4?O ?>?GG5=<O >5D47>64=<O >5GG4NM<<<EO E 
>7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO 3 MF> GE?>6<O >5GG5=<O < D476<F<O, 

6>?NG4NM<5 6 E55O <E?>?L7>64=<5 E?5F<4?L=OE >5D47>64F5?L=OE ?D>7D4<< < <5F>4>6 

>5GG5=<O, E?5F<4?L=OE GG55=<>>6, GG55=OE ?>E>5<= < 4<44>F<G5E><E <4F5D<4?>6, 

E?5F<4?L=OE F5E=<G5E><E ED54EF6 >5GG5=<O >>??5>F<6=>7> < <=4<6<4G4?L=>7> 

?>?L7>64=<O, ?D54>EF46?5=<5 GE?G7 4EE<EF5=F4 (?><>M=<>4), >>47O64NM57> >5GG4NM<<EO 

=5>5E>4<<GN F5E=<G5E>GN ?><>ML, ?D>6545=<5 7DG??>6OE < <=4<6<4G4?L=OE 

>>DD5>F<>==OE 74=OF<=, >55E?5G5=<5 4>EFG?4 6 744=<5 < 4DG7<5 GE?>6<O, 557 >>F>DOE 

=56>7<>6=> <?< 74FDG4=<F5?L=> >E6>5=<5 >5D47>64F5?L=OE ?D>7D4<< >5GG4NM<<<EO E 

>7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO. 

%?5F<4?L=O5 >5D47>64F5?L=O5 < D545<?<F4F<>==O5 F5E=>?>7<<: ?>=<<4NF 

>E>5GN E>6>>G?=>EFL >D74=<74F<>==OE EFDG>FGD < <5D>?D<OF<=, E<EF5<=OE ED54EF6 < 

<5F>4>6, >5M<E < G4EF=OE <5F>4<>, >?F<<4?L=O< >5D47>< >55E?5G<64NM<E: - 

D54?<74F<N < GE6>5=<5 >5D47>64F5?L=OE ?D>7D4<< 6 >5N5<5 < >4G5EF65, ?D54GE<>FD5==OE 

7>EG44DEF65==O<< >5D47>64F5?L=O<< EF4=44DF4<<; - D545<?<F4F<N ?<G=>EF< 6 

>>=>D5F=>= <=F57D<D>64==>= ED545 >5GG5=<O; - E>744=<5 E<EF5<O <5D, =4?D46?5==OE =4 

GEFD4=5=<5 <?< 6>7<>6=> 5>?55 ?>?=GN >><?5=E4F<N >7D4=<G5=<= 6<7=545OF5?L=>EF<, 

6O764==OE =4DGL5=<5< 74>D>6LO 

&LNF>D 3 ?5447>7<G5E><= D45>F=<>, >55E?5G<64NM<= D47D45>F>G <=4<6<4G4?L=OE 

>5D47>64F5?L=OE ?D>7D4<< >5GG4NM<EEO < E>?D>6>644NM<= ?D>F5EE <=4<6<4G4?L=>7> 

>5D47>64=<O, ?<G=O= >GD4F>D >5GG4NM57>EO. 

 

1.3 �4?D46?5==>EFL (?D>D<?L) >5D47>64F5?L=>= ?D>7D4<<O 
 

�44?F<D>64==4O >E=>6=4O ?D>D5EE<>=4?L=4O >5D47>64F5?L=4O ?D>7D4<<4 

54>4?46D<4F4, D54?<7G5<4O D545D4?L=O< 7>EG44DEF65==O< 5N465F=O< >5D47>64F5?L=O< 

GGD5645=<5< 6OEL57> ?D>D5EE<>=4?L=>7> >5D47>64=<O «�D<<>DE>4O 7>EG44DEF65==4O 

E5?LE>>E>7O=EF65==4O 4>445<<O» ?> =4?D46?5=<N ?>47>F>6>< 21.03.02 �5<?5GEFD>=EF6> < 
>444EFDO, <<55F =4?D46?5==>EFL (?D>D<?L) �5<?5GEFD>=EF6>. 

 

1.4 �64?<D<>4F<O, ?D<E64<645<4O 6O?GE>=<>4< 
 

�64?<D<>4F<O, ?D<E64<645<4O 6O?GE>=<>4< - 54>4?46D 

 
 

1.5 �5M4O E4D4>F5D<EF<>4 6G7>6E>>=   ����� GD>6=O 6OEL57> 
>5D47>64=<O 54>4?46D<4F =4?D46?5=<O ?>47>F>6>< 21.03.02 �5<?5GEFD>=EF6> < 

>444EFDO 
 

1.5.1 &5?L (<<EE<O) >5D47>64F5?L=>= ?D>7D4<<O 
 

�<EE<O 444?F<D>64==>= >E=>6=>= ?D>D5EE<>=4?L=>= >5D47>64F5?L=>= ?D>7D4<<O 

6OEL57> >5D47>64=<O =4?D46?5=<O ?>47>F>6>< 21.03.02 �5<?5GEFD>=EF6> < >444EFDO 
54>4?46D<4F4 E>EF><F 6 D476<F<< G ?<F E ��� < <=64?<4=>EFLN ?<G=>EF=OE >4G5EF6 < 

D>D<<D>64=<< >><?5F5=F<= ?>ED54EF6>< ?D4>F<>>->D<5=F<D>64==>7> >5GG5=<O E 

>D<5=F4F<5= =4 D476<F<5 >><?5F5=F<= 54>4?46D4 6 E>>F65FEF6<< E FD55>64=<O<< $��% 

�� ?> G>474==><G =4?D46?5=<N ?>47>F>6><. 

�>=F5?F<O ����� �� >E=>64=4 =4 >><?5F5=F=>EF=>< ?>4E>45 > >6<445<O< 

D57G?LF4F4< 6OEL57> >5D47>64=<O < E>45D6<F E?54GNM<5 <45<: 

÷ =4?D46?5==>EFL 55 =4 <=>7>GD>6=56GN E<EF5<G >5D47>64=<O;ð
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÷ 6O5>D EFG45=F4<< <=4<6<4G4?L=OE >5D47>64F5?L=OE FD45>F>D<=;ð

÷ ?D4>F<>>->D<5=F<D>64==>5 >5GG5=<5, ?>76>?ONM55 E>G5F4FL DG=44<5=F4?L=O5 

7=4=<O E ?D4>F<G5E><<< =46O>4<< ?> =4?D46?5=<N ?>47>F>6><;ð

÷ <E?>?L7>64=<5 ?D<=F<?>6 <>4G?L=>= >D74=<74F<< ����;ð

÷ ?5D5E>4 > <E?>?L7>64=<N <>4G?L=>-D5=F<=7>6>= E<EF5<O 4?O >F5=>< GD>6=O 

>><?5F5=F<=;ð

÷ D>D<<D>64=<5 7>F>6=>EF< 6O?GE>=<>>6 6G74 > 4>F<6=>= ?D>D5EE<>=4?L=>= < 

E>F<4?L=>= 45OF5?L=>EF<;ð

÷ <564G=4D>4=>5 ?D<7=4=<5 ����� ?> =4?D46?5=<N ?>47>F>6><.ð

� >5?4EF< >5GG5=<O F5?LN ����� �� ?> =4?D46?5=<N ?>47>F>6>< 21.03.02 
�5<?5GEFD>=EF6> < >444EFDO O6?O5FEO D>D<<D>64=<5 >5M5>G?LFGD=OE (G=<65DE4?L=OE): 

E>F<4?L=>-?<G=>EF=OE, >5M5=4GG=OE, <=EFDG<5=F4?L=OE < ?D>D5EE<>=4?L=OE 

>><?5F5=F<= ?<F E ��� < <=64?<4=>EFLN, ?>76>?ONM<E 6O?GE>=<>G GE?5L=> D45>F4FL 6 

<75D4==>= ED5D5 45OF5?L=>EF< < 5OFL 6>EFD55>64==O< =4 DO=>5 FDG44. 

� >5?4EF< 6>E?<F4=<O F5?LN ����� �� ?> =4?D46?5=<N ?>47>F>6>< 21.03.02 
�5<?5GEFD>=EF6> < >444EFDO O6?O5FEO D476<F<5 G ?<F E ��� < <=64?<4=>EFLN 

?<G=>EF=OE >4G5EF6, E?>E>5EF6GNM<E <E F6>DG5E>>= 4>F<6=>EF<, >5M5>G?LFGD=><G D>EFG 

< E>F<4?L=>= <>5<?L=>EF<: F5?5GEFD5<?5==>EF<, >D74=<7>64==>EF<, FDG4>?N5<O, 

>F65FEF65==>EF<, E4<>EF>OF5?L=>EF<, 7D4644=EF65==>EF<, ?D<65D65==>EF< MF<G5E><< 

F5==>EFO<, F>?5D4=F=>EF<, =4EF>=G<6>EF< 6 4>EF<65=<< F5?<. 
�E6>5=<5 ����� ?>76>?O5F ?<FG E ��� < <=64?<4=>EFLN, GE?5L=> ?D>L54L5<G 

7>EG44DEF65==GN <F>7>6GN 4FF5EF4F<N, ?>?GG<FL >64?<D<>4F<N (EF5?5=L) - 54>4?46D. 

1.5.2 $>D<4 >5GG5=<O 

�5GG5=<5 ?> ?D>7D4<<5 54>4?46D<4F4 21.03.02 �5<?5GEFD>=EF6> < >444EFDO 6 

>D74=<74F<< $���' ��� �D<<>DE>4O �%%� >EGM5EF6?O5FEO 6 >G=>= < 74>G=>= D>D<4E 

>5GG5=<O. 
 

1.5.3 %D>> >E6>5=<O >5D47>64F5?L=>= ?D>7D4<<O 
 

%D>> >E6>5=<O ����� �� ?> =4?D46?5=<N ?D< >G=>= D>D<5 >5GG5=<O - 4 7>44. 

%D>>< >E6>5=<O ����� �� ?> 74>G=>= D>D<5 >5GG5=<O, 4 F4>65 6 E?GG45 E>G5F4=<O 

D47?<G=OE D>D< >5GG5=<O (>G=>-74>G=4O < 4D.) <>65F G65?<G<64FLEO =5 <5=55 G5< =4 6 

<5EOF56 < =5 5>?55 G5< =4 1 7>4 ?> ED46=5=<N E> ED>>>< ?>?GG5=<O >5D47>64=<O ?> >G=>= 

D>D<5 >5GG5=<O (E>7?4E=> D5L5=<O GG5=>7> E>65F4 $���' ��� �D<<>DE>4O �%%�). 
�D< >5GG5=<< ?> <=4<6<4G4?L=><G GG55=><G ??4=G ?<F E >7D4=<G5==O<< 

6>7<>6=>EFO<< 74>D>6LO 6=5 746<E<<>EF< >F D>D<O >5GG5=<O, ED>> ?>?GG5=<O >5D47>64=<O 

E>EF46?O5F =5 5>?55 ED>>4 ?>?GG5=<O >5D47>64=<O, GEF4=>6?5==>7> 4?O E>>F65FEF6GNM5= 

D>D<O >5GG5=<O, 4 ?D< >5GG5=<< ?> <=4<6<4G4?L=><G ??4=G ?<F E >7D4=<G5==O<< 

6>7<>6=>EFO<< 74>D>6LO <>65F 5OFL G65?<G5= ?> <E 65?4=<N =5 5>?55 G5< =4 1 7>4 ?> 

ED46=5=<N E> ED>>>< ?>?GG5=<O >5D47>64=<O 4?O E>>F65FEF6GNM5= D>D<O >5GG5=<O. 

 

1.5.4 &DG4>5<>>EFL >5D47>64F5?L=>= ?D>7D4<<O 
 

�5M4O FDG4>T<>>EFL >E6>5=<O ����� �� ?> =4?D46?5=<N ?>47>F>6>< 3 240 

74GTF=OE 54<=<F 6=5 746<E<<>EF< >F D>D<O >5GG5=<O, ?D<<5=O5<OE >5D47>64F5?L=OE 

F5E=>?>7<=, D54?<74F<< ?D>7D4<<O 54>4?46D<4F4 E <E?>?L7>64=<5< E5F56>= D>D<O, 

D54?<74F<< ?D>7D4<<O 54>4?46D<4F4 ?> <=4<6<4G4?L=><G GG55=><G ??4=G, 6 F.G. 

GE>>D5==><G >5GG5=<N. 

�5N5< ?D>7D4<<O 54>4?46D<4F4 6 >G=>= D>D<5 >5GG5=<O, D54?<7G5<O= 74 >4<= 

GG55=O= 7>4, E>EF46?O5F 60 7.5.; 
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- ?D< >5GG5=<< ?> <=4<6<4G4?L=><G GG55=><G ??4=G, 6=5 746<E<<>EF< >F D>D<O 

>5GG5=<O, E>EF46?O5F =5 5>?55 ED>>4 ?>?GG5=<O >5D47>64=<O, GEF4=>6?5==>7> 4?O 

E>>F65FEF6GNM5= D>D<O >5GG5=<O, 4 ?D< >5GG5=<< ?> <=4<6<4G4?L=><G ??4=G ?<F E 

>7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO <>65F 5OFL G65?<G5= ?> 65?4=<N =5 5>?55 G5< 

=4 1 7>4 ?> ED46=5=<N E> ED>>>< ?>?GG5=<O >5D47>64=<O 4?O E>>F65FEF6GNM5= D>D<O 

>5GG5=<O. 

�5N5< ?D>7D4<<O 54>4?46D<4F4 74 >4<= GG55=O= 7>4 ?D< >5GG5=<< ?> 

<=4<6<4G4?L=><G ??4=G 6=5 746<E<<>EF< >F D>D<O >5GG5=<O =5 <>65F E>EF46?OFL 5>?55 

75 7.5. 

%>45D64=<5 ����� (74 6OG5F>< 444?F4F<>==OE <>4G?5=) ?>?=>EFLN 

E>>F65FEF6G5F ���� < >?D545?O5FEO 6O?GE>4NM5= >4D54D>=, D54?<7GNM5= >>=>D5F=GN 

=4?D46?5==>EFL. 

%>45D64=<5 444?F4F<>==OE <>4G?5= ����� >?D545?O5FEO $���' ��� 

�D<<>DE>4O �%%�. 

 

1.6 &D55>64=<O > GD>6=N ?>47>F>6>< 45<FGD<5=F4, =5>5E>4<<><G 4?O >E6>5=<O 
>5D47>64F5?L=>= ?D>7D4<<O 

 
�5<FGD<5=F 4>?65= <<5FL 4>>G<5=F 7>EG44DEF65==>7> >5D47F4 > ED54=5< (?>?=><) 

>5M5< >5D47>64=<< <?< ED54=5< ?D>D5EE<>=4?L=>< >5D47>64=<<, <?< =4G4?L=>< 

?D>D5EE<>=4?L=>< >5D47>64=<<, 5E?< 6 =T< 5EFL 74?<EL > ?>?GG5=<< ?D54NO6<F5?5< 

ED54=57> (?>?=>7>) >5M57> >5D47>64=<O, <?< 6OEL5< ?D>D5EE<>=4?L=>< >5D47>64=<<. 

�E=>6=O< 4>>G<5=F><, ?>76>?ONM<< D54?<7>64FL ����� 4?O ?<F4 E ���, 6 F.G. 

<=64?<44 O6?O5FEO 74>?NG5=<5 ?E<E>?>7>-<54<>>-?5447>7<G5E>>= >><<EE<< E 

D5>><5=44F<5= >5 >5GG5=<< ?> 44==><G =4?D46?5=<N ?>47>F>6>< (<?< E?5F<4?L=>EF<). 

�>>G<5=F><, ?>76>?ONM<< D54?<7>6O64FL ����� 4?O <=64?<4>6 O6?O5FEO 

74>?NG5=<5 <54<>>-E>F<4?L=>= M>E?5DF<7O. 

�4G<E?5=<5 =4 >5GG5=<5 ?> ����� �� >EGM5EF6?O5FEO ?> ?<G=><G 74O6?5=<N 

?>EFG?4NM57> <=64?<44 <?< ?>EFG?4NM57> E >7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO =4 

>E=>64=<< D5>><5=44F<=, 44==OE ?> D57G?LF4F4< 74>?NG5=<= 6OL5G?><O=GFOE 

>><<EE<=. 

 
 

2. %�$��&�$�%&��� �$�$�%%�����,��� ��/&��,��%&� 
�/�'%����� ��$�����&��,��� �$������&�� ���$������/ 

�����&���� 21.03.02 �����'%&$��%&�� � ����%&$/ 
 

2.1 �5?4EFL ?D>D5EE<>=4?L=>= 45OF5?L=>EF< 6O?GE>=<>4 

 
�5?4EFL ?D>D5EE<>=4?L=>= 45OF5?L=>EF<   6O?GE>=<>>6, >E6><6L<E ?D>7D4<<G 

54>4?46D<4F4, 6>?NG45F: 

-75<5?L=>-<<GM5EF65==O5 >F=>L5=<O; 

-E<EF5<G G?D46?5=<O 75<5?L=O<< D5EGDE4<< < >5N5>F4<< =546<6<<>EF<; 

->D74=<74F<N F5DD<F>D<< 75<?5?>?L7>64=<=; 

-?D>7=>7<D>64=<5, ??4=<D>64=<5 < ?D>5>F<D>64=<5 75<?5?>?L7>64=<O, D4F<>=4?L=>5 

<E?>?L7>64=<5 < >ED4=4 75<5?L; 

- ?D46>?D<<5=<F5?L=GN 45OF5?L=>EFL ?> GEF4=>6?5=<N ?D464 E>5EF65==>EF< < 

>>=FD>?N <E?>?L7>64=<O 75<5?L=OE GG4EF>>6 < <=OE >5N5>F>6 =546<6<<>EF<; 

- <>=<F>D<=7 75<5?L < <=>= =546<6<<>EF<; 

- =4?>7>>5?>65=<5 >5N5>F>6 =546<6<<>EF<; 



11  

- D<M?F5DE>GN, >F5=>G=GN < >>=E4?F<=7>6GN 45OF5?L=>EFL 6 ED5D5 75<5?L=>- 

<<GM5EF65==>7> >><??5>E4; 

- GG5F, >444EFD>6GN >F5=>G < D57<EFD4F<N >5N5>F>6 =546<6<<>EF<; 

- ?D>6545=<5 75<?5GEFD>=EF64; 

- F>?>7D4D>-75>457<G5E>>5 < >4DF>7D4D<G5E>>5 >55E?5G5=<5 75<?5GEFD>=EF64 < 

>444EFD>6; 

- ?>7<F<>=<D>64=<5 >5N5>F>6 =546<6<<>EF<, >444EFD>6O5 EN5<><, D>D<<D>64=<5 

>444EFD>6OE <=D>D<4F<>==OE E<EF5<; 

- <56564=<5 75<5?L; 

- D>D<<D>64=<5 75<5?L=OE GG4EF>>6 < <=OE >5N5>F>6 =546<6<<>EF<; 

- ?D>6545=<5 <=65=F4D<74F<< 75<5?L < >5N5>F>6 =546<6<<>EF<. 

 

2.2 �5N5>FO ?D>D5EE<>=4?L=>= 45OF5?L=>EF< 6O?GE>=<>4 
 

�5N5>F4<< ?D>D5EE<>=4?L=>= 45OF5?L=>EF< 6O?GE>=<>>6, >E6><6L<E ?D>7D4<<G 

54>4?46D<4F4, O6?ONFEO: 75<5?L=O5 < 4DG7<5 6<4O ?D<D>4=OE D5EGDE>6; >4F57>D<< 

75<5?L=>7> D>=44; >5N5>FO 75<?5GEFD>=EF64: F5DD<F>D<< EG5N5>F>6 $>EE<=E>>= 

$545D4F<<, <G=<F<?4?L=OE >5D47>64=<=, =4E5?5==OE ?G=>F>6; F5DD<F>D<4?L=O5 7>=O; 

7>=O E >E>5O<< GE?>6<O<< <E?>?L7>64=<O F5DD<F>D<=, <E G4EF5=, F5DD<F>D<< 4DG7<E 

44<<=<EFD4F<6=OE >5D47>64=<=; 7>=O E?5F<4?L=>7> ?D46>6>7> D56<<4; 7>=O 

75<?5?>?L7>64=<= < 75<5?L=O5 GG4EF>< 6 746<E<<>EF< >F F5?56>7> =47=4G5=<O < 

D47D5L5==>7> <E?>?L7>64=<O; 75<5?L=O5 G7>4LO; >5N5>FO =546<6<<>EF< < >444EFD>6>7> 

GG5F4; <=D>D<4F<>==O5 E<EF5<O, <==>64F<>==O5 F5E=>?>7<< 6 75<?5GEFD>=EF65 < 

>444EFD4E; <=D>D<4F<>==O5 E<EF5<O < F5E=>?>7<< >444EFD4 =546<6<<>EF<; 

75>457<G5E>4O < >4DF>7D4D<G5E>4O >E=>6O 75<?5GEFD>=EF64 < >444EFD4 =546<6<<>EF<, 

75<?5GEFD><F5?L=>5 ?D>5>F<D>64=<5, ??4=<D>64=<5 < >D74=<74F<O D4F<>=4?L=>7> 

<E?>?L7>64=<O 75<5?L. 

 

2.3 �<4O ?D>D5EE<>=4?L=>= 45OF5?L=>EF< 6O?GE>=<>4 
 

�4>4?46D ?> =4?D46?5=<N ?>47>F>6>< 21.03.02 �5<?5GEFD>=EF6> < >444EFDO 
7>F>6<FEO > E?54GNM<< 6<44< ?D>D5EE<>=4?L=>= 45OF5?L=>EF<: 

- =4GG=>-<EE?54>64F5?LE>4O - >E=>6=4O; 

- >D74=<74F<>==>-G?D46?5=G5E>4O - 4>?>?=<F5?L=4O; 

- ?D>5>F=4O - 4>?>?=<F5?L=4O; 

- ?D><76>4EF65==>-F5E=>?>7<G5E>4O - 4>?>?=<F5?L=4O. 

�>=>D5F=O5 6<4O ?D>D5EE<>=4?L=>= 45OF5?L=>EF< >?D545?ONFEO 6G7>< E>6<5EF=> E 

>5GG4NM<<<EO, =4GG=>-?5447>7<G5E><<< D45>F=<>4<< 6G74 < >5N54<=5=<O<< 

D45>F>44F5?5=. 

 

2.4 �444G< ?D>D5EE<>=4?L=>= 45OF5?L=>EF< 6O?GE>=<>4 
 

�4>4?46D =4?D46?5=<O ?>47>F>6>< 21.03.02 �5<?5GEFD>=EF6> < >444EFDO 4>?65= 

D5L4FL E?54GNM<5 ?D>D5EE<>=4?L=O5 7444G< 6 E>>F65FEF6<< E 6<44<< ?D>D5EE<>=4?L=>= 

45OF5?L=>EF<: 

 
�D74=<74F<>==>-G?D46?5=G5E>4O 45OF5?L=>EFL: 

- GG4EF<5 6 E>EF46?5=<< F5E=<G5E>>= 4>>G<5=F4F<< < >FG5F=>EF<; 

- 6O?>?=5=<5 D45>F ?> ?>47>F>6>5 > E5DF<D<>4F<< ?D<5>D>6, >5>DG4>64=<O, 

F5E=<G5E><E GEFD>=EF6 < E<EF5<; 

- >D74=<74F<O < ??4=<D>64=<5 D45>FO <4?OE >>??5>F<6>6 <E?>?=<F5?5=; 

- >5>E=>64=<5 =4GG=>-F5E=<G5E><E < >D74=<74F<>==OE D5L5=<=; 
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- 4=4?<7 D57G?LF4F>6 45OF5?L=>EF< >>??5>F<6>6; 

- >?D545?5=<5 FD55>64=<= < E>EF46?5=<5 F5E=<G5E>>= 4>>G<5=F4F<< =4 6O?>?=5=<5 

D5<>=F=OE D45>F, ?D<5>D>6 < >5>DG4>64=<O; 

- E>EF46?5=<5 74O6>> =4 =>6>5 >5>DG4>64=<5, ?D<5<>4 < >E6>5=<5 =>6>7> 

>5>DG4>64=<O < ?D<5>D>6; 

- >5>E=>64=<5 F5E=<G5E><E < >D74=<74F<>==OE D5L5=<=; 

- E>EF46?5=<5 F5E=<G5E>>= 4>>G<5=F4F<< < >FG5F=>EF<; 

- 6O?>?=5=<5 D45>F ?> ?>47>F>6>5 > E5DF<D<>4F<< ?D<5>D>6, >5>DG4>64=<O, 

F5E=<G5E><E GEFD>=EF6; 

- E>EF46?5=<5 74O6>> =4 =>6>5 >5>DG4>64=<5, ?D<5<>4 < >E6>5=<5 =>6>7> 

>5>DG4>64=<O < ?D<5>D>6. 

 
�D>5>F=4O 45OF5?L=>EFL: 

- GG4EF<5 6 D47D45>F>5 <5D>?D<OF<= ?> <7GG5=<N E>EF>O=<O 75<5?L, ??4=<D>64=<N < 

>D74=<74F<< D4F<>=4?L=>7> <E?>?L7>64=<O 75<5?L < <E >ED4=O, >?<E4=<N 

<5EF>?>?>65=<O < (<?<) GEF4=>6?5=<N =4 <5EF=>EF< 7D4=<F >5N5>F>6 75<?5GEFD>=EF64; 

- GG4EF<5 6 D47D45>F>5 ?D>5>F>6 >D74=<74F<< D4F<>=4?L=>7> <E?>?L7>64=<O 

7D4644=4<< < ND<4<G5E><<< ?<F4<< 75<5?L=OE GG4EF>>6 4?O >EGM5EF6?5=<O 

E5?LE>>E>7O=EF65==>7> ?D><76>4EF64, 4 F4>65 ?> >D74=<74F<< F5DD<F>D<=, <E?>?L7G5<OE 

>5M<=4<< >>D5==OE <4?>G<E?5==OE =4D>4>6 %565D4, %<5<D< < �4?L=57> �>EF>>4 

$>EE<=E>>= $545D4F<<, 4?O >55E?5G5=<O <E FD44<F<>==>7> >5D474 6<7=<; 

- GG4EF<5 6 ?D><76>4EF65 75<?5GEFD><F5?L=OE D45>F ?> GEF4=>6?5=<N =4 <5EF=>EF< 

7D4=<F EG5N5>F>6 $>EE<=E>>= $545D4F<<, 7D4=<F <G=<F<?4?L=OE >5D47>64=<=, 7D4=<F 

=4E5?5==OE ?G=>F>6, 7D4=<F F5DD<F>D<4?L=OE 7>=, 7D4=<F 7>= E >E>5O<< GE?>6<O<< 

<E?>?L7>64=<O F5DD<F>D<=, 7D4=<F G4EF5= G>474==OE F5DD<F>D<=, 4 F4>65 >>>D4<=4F=><G 

>?<E4=<N < ?>47>F>6>5 >4DF (??4=>6) 44==OE >5N5>F>6 75<?5GEFD>=EF64; 

- GG4EF<5 6 GEF4=>6?5=<< 7D4=<F 6>4=OE >5N5>F>6 =4 F5DD<F>D<OE EG5N5>F>6 

$>EE<=E>>= $545D4F<<, <G=<F<?4?L=OE >5D47>64=<=, =4E5?5==OE ?G=>F>6 < 75<5?L=OE 

GG4EF>>6; GEF4=>6?5=<< ?D<5D56=OE ?>?>E < 6>4>>ED4==OE 7>= 6>4=OE >5N5>F>6; 

- GG4EF<5 6 GEF4=>6?5=<< 7D4=<F F5DD<F>D<= >5N5>F>6 >G?LFGD=>7> =4E?54<O =4D>4>6 

$>EE<=E>>= $545D4F<<; 

- GG4EF<5 6 D47D45>F>5 ?D>5>F>6 < EE5< 75<?5GEFD>=EF64, EE5< <E?>?L7>64=<O < 

>ED4=O 75<5?L, EE5< F5DD<F>D<4?L=>7> ??4=<D>64=<O, ?D>5>F>6 ??4=<D>6>< F5DD<F>D<=, 

?D>5>F>6 <56564=<O F5DD<F>D<=, E>EF46?5=<< 7D44>EFD><F5?L=OE ??4=>6 < <5656OE 

??4=>6 75<5?L=OE GG4EF>>6; 

- GG4EF<5 6 D47D45>F>5 D45>G<E ?D>5>F>6 6 75<?5GEFD>=EF65; 

- GG4EF<5 6 >5D47>64=<< E?5F<4?L=OE 75<5?L=OE D>=4>6, >E>5> >ED4=O5<OE 

?D<D>4=OE F5DD<F>D<= < F5DD<F>D<= FD44<F<>==>7> ?D<D>4>?>?L7>64=<O; 

- GG4EF<5 6 ?D>6545=<< F5E=<>>-M>>=><<G5E>>7> >5>E=>64=<O ?D>5>F>6 < EE5< 

75<?5GEFD>=EF64, ?D>5>F>6 ??4=<D>6>< F5DD<F>D<=, EE5< F5DD<F>D<4?L=>7> 

??4=<D>64=<O; ?D>6545=<< <>=<F>D<=74 75<5?L; 

- GG4EF<5 6 D47D45>F>5 ?D>5>F=>= < D45>G5= F5E=<G5E>>= 4>>G<5=F4F<< ?> 

75<?5GEFD>=EF6G < >444EFD4<, F5DD<F>D<4?L=><G ??4=<D>64=<N, D476<F<N >5N5>F>6 

=546<6<<>EF<, >D>D<?5=<< 74>>=G5==OE ?D>5>F=OE D45>F; 

- >>=FD>?L E>>F65FEF6<O D47D454FO645<OE ?D>5>F>6 < F5E=<G5E>>= 4>>G<5=F4F<< ?> 

75<?5GEFD>=EF6G < >444EFD4<, F5DD<F>D<4?L=><G ??4=<D>64=<N, D476<F<N >5N5>F>6 

=546<6<<>EF< EF4=44DF4<, F5E=<G5E><< GE?>6<O< < 4DG7<< =>D<4F<6=O< 4>>G<5=F4<. 

 
�4GG=>- <EE?54>64F5?LE>4O 45OF5?L=>EFL: 

- GG4EF<5 6 D47D45>F>5 < 4?D>54F<< 46F><4F<7<D>64==OE E<EF5< 

75<?5GEFD><F5?L=>7> ?D>5>F<D>64=<O, >5D45>F>< >444EFD>6>= < 4DG7>= <=D>D<4F<<, <E 

4=4?<7; 
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- GG4EF<5 6 D47D45>F>5 =>6OE <5F>4<> ?D>5>F<D>64=<O, F5E=>?>7<= 6O?>?=5=<O 

D45>F ?D< 75<?5GEFD>=EF65 < >444EFD4E, 6545=<5 >444EFD4, >F5=>< 75<5?L < =546<6<<>EF<; 

- GG4EF<5 6 ?D>6545=<< M>E?5D<<5=F4?L=OE <EE?54>64=<= 6 75<?5GEFD>=EF65, 

>444EFD4E < <E 6=54D5=<< 6 ?D><76>4EF6>; 

- <7GG5=<5 =4GG=>-F5E=<G5E>>= <=D>D<4F<<, >F5G5EF65==>7> < 74DG556=>7> >?OF4 

<E?>?L7>64=<O 75<?< < <=>= =546<6<<>EF<; 

- >D74=<74F<O 74M<FO >5N5>F>6 <=F5??5>FG4?L=>= E>5EF65==>EF<. 

 
�D><76>4EF65==>-F5E=>?>7<G5E>4O 45OF5?L=>EFL: 

- 6545=<5 7>EG44DEF65==>7> >444EFD4 =546<6<<>EF<; 

- GG4EF<5 6 >EGM5EF6?5=<< ?D>5>F=>-<7OE>4F5?L=OE < F>?>7D4D>-75>457<G5E><E 

D45>F ?> 75<?5GEFD>=EF6G < 7>EG44DEF65==><G >444EFDG =546<6<<>EF<; 

- ?D46>6>5 >55E?5G5=<5 45OF5?L=>EF< 6 >5?4EF< 75<?5GEFD>=EF64 < >444EFD>6; 

-GG4EF<5 6 ?D>6545=<< >>=FD>?O 74 <E?>?L7>64=<5< 75<5?L < <=>= =546<6<<>EF<, 

>ED4=>= 75<5?L < >>DG64NM5= ED54O 6 E>>F65FEF6<< E 45=EF6GNM<< 74>>=>44F5?LEF6><; 

- GG4EF<5 6 E>EF46?5=<< F5<4F<G5E><E >4DF < 4F?4E>6 E>EF>O=<O < <E?>?L7>64=<O 

75<5?L; 

- GG4EF<5 6 D45>F4E ?> >?<E4=<N <5EF>?>?>65=<O < (<?<) GEF4=>6?5=<N =4 

<5EF=>EF< 7D4=<F >5N5>F>6 75<?5GEFD>=EF64; 

- <E?>?L7>64=<5 <=D>D<4F<>==OE F5E=>?>7<=, <>45?<D>64=<O < E>6D5<5==>= 

F5E=<>< 6 75<?5GEFD>=EF65 < >444EFD4E; 

-GG4EF<5 6 ?D>6545=<< F5E=<G5E>>= <=65=F4D<74F<< >5N5>F>6 =546<6<<>EF< < 

<56564=<< 75<5?L; 

- GG4EF<5 6 ?D>6545=<< >F5=>< 75<5?L < <=OE >5N5>F>6 =546<6<<>EF<; 

- GG4EF<5 6 D45>F4E ?> D54?<74F<< ?D>5>F>6 < EE5< 75<?5GEFD>=EF64; 

- >EGM5EF6?5=<5 <>=<F>D<=74 75<5?L < >5N5>F>6 =546<6<<>EF<; 

- GG4EF<5 6 D45>F4E ?> 6545=<N 7>EG44DEF65==>7> D>=44 44==OE, ?>?GG5==OE 6 

D57G?LF4F5 ?D>6545=<O 75<?5GEFD>=EF64. 

 
 

3.  �����$'��/� $��'�,&�&/ �%�����/ ����� '$���/ �/%,��� 
��$�������/ �������$��& ���$������/ �����&���� 21.03.02 

�����'%&$��%&�� � ����%&$/ 
 

$57G?LF4FO >E6>5=<O ����� �� >?D545?ONFEO ?D<>5D5F45<O<< 6O?GE>=<>>< 

>><?5F5=F<O<<, F.5. 57> E?>E>5=>EFLN ?D<<5=OFL 7=4=<O, G<5=<O < ?<G=O5 >4G5EF64 6 

E>>F65FEF6<< E 7444G4<< ?D>D5EE<>=4?L=>= 45OF5?L=>EF<. 

� D57G?LF4F5 >E6>5=<O ����� �� =4?D46?5=<O ?>47>F>6>< 21.03.02 

�5<?5GEFD>=EF6> < >444EFDO 6O?GE>=<> 4>?65= >5?444FL E?54GNM<<< >><?5F5=F<O<<: 

 
>5M5>G?LFGD=O<< >><?5F5=F<O<< (��): 

-E?>E>5=>EFLN <E?>?L7>64FL >E=>6O D<?>E>DE><E 7=4=<= 4?O D>D<<D>64=<O 

<<D>6>77D5=G5E>>= ?>7<F<< (��31); 

-E?>E>5=>EFLN 4=4?<7<D>64FL >E=>6=O5 MF4?O < 74>>=><5D=>EF< <EF>D<G5E>>7> 

D476<F<O >5M5EF64 4?O D>D<<D>64=<O 7D4644=E>>= ?>7<F<< (��-2); 

-E?>E>5=>EFLN <E?>?L7>64FL >E=>6O M>>=><<G5E><E 7=4=<= 6 D47?<G=OE ED5D4E 

45OF5?L=>EF< (��-3); 

-E?>E>5=>EFLN <E?>?L7>64FL >E=>6O ?D46>6OE 7=4=<= 6 D47?<G=OE ED5D4E 

45OF5?L=>EF< (��-4); 

-E?>E>5=>EFLN > >><<G=<>4F<< 6 GEF=>= < ?<EL<5==>= D>D<4E =4 DGEE>>< < 

<=>EFD4==>< O7O>4E 4?O D5L5=<O 7444G <56?<G=>EF=>7> < <56>G?LFGD=>7> 

674<<>45=EF6<O (��-5); 
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-E?>E>5=>EFLN D45>F4FL 6 >><4=45, F>?5D4=F=> 6>E?D<=<<4O E>F<4?L=O5 < 

>G?LFGD=O5 D47?<G<O (��-6); 

-E?>E>5=>EFLN > E4<>>D74=<74F<< < E4<>>5D47>64=<N (��-7); 

-E?>E>5=>EFLN <E?>?L7>64FL <5F>4O < ED54EF64 D<7<G5E>>= >G?LFGDO 4?O 

>55E?5G5=<O ?>?=>F5==>= E>F<4?L=>= < ?D>D5EE<>=4?L=>= 45OF5?L=>EF< (��- 8); 

-E?>E>5=>EFLN <E?>?L7>64FL ?D<5<O ?5D6>= ?><>M<, <5F>4O 74M<FO 6 GE?>6<OE 

GD576OG4==OE E<FG4F<= (��-9). 

 
>5M5?D>D5EE<>=4?L=O<< >><?5F5=F<O<< (���): 

-E?>E>5=>EFLN >EGM5EF6?OFL ?><E>, ED4=5=<5, >5D45>F>G < 4=4?<7 <=D>D<4F<< <7 

D47?<G=OE <EF>G=<>>6 < 547 44==OE, ?D54EF46?OFL 55 6 FD55G5<>< D>D<4F5 E 

<E?>?L7>64=<5< <=D>D<4F<>==OE, >><?LNF5D=OE < E5F56OE F5E=>?>7<= (���-1); 

-E?>E>5=>EFLN <E?>?L7>64FL 7=4=<5 > 75<5?L=OE D5EGDE4E 4?O >D74=<74F<< <E 

D4F<>=4?L=>7> <E?>?L7>64=<O < >?D545?5=<O <5D>?D<OF<= ?> E=<65=<N 4=FD>?>75==>7> 

6>745=EF6<O =4 F5DD<F>D<N (���-2); 

-E?>E>5=>EFLN <E?>?L7>64FL 7=4=<O E>6D5<5==OE F5E=>?>7<= ?D>5>F=OE, 

>444EFD>6OE < 4DG7<E D45>F, E6O74==OE E 75<?5GEFD>=EF6>< < >444EFD4<< (���-3). 

 

?D>D5EE<>=4?L=O<< >><?5F5=F<O<< (��) ?> 6<44< 45OF5?L=>EF<: 

>D74=<74F<>==>-G?D46?5=G5E>4O 45OF5?L=>EFL: 
-E?>E>5=>EFLN ?D<<5=OFL 7=4=<5 74>>=>6 EFD4=O 4?O ?D46>6>7> D57G?<D>64=<O 

75<5?L=>-<<GM5EF65==OE >F=>L5=<=, >>=FD>?L 74 <E?>?L7>64=<5< 75<5?L < 

=546<6<<>EF< (��-1); 

-E?>E>5=>EFLN <E?>?L7>64FL 7=4=<O 4?O G?D46?5=<O 75<5?L=O<< D5EGDE4<<, 

=546<6<<>EFLN, >D74=<74F<< < ?D>6545=<O >444EFD>6OE < 75<?5GEFD><F5?L=OE D45>F 

(��-2); 

 
?D>5>F=4O 45OF5?L=>EFL: 

-E?>E>5=>EFLN <E?>?L7>64FL 7=4=<O =>D<4F<6=>= 547O < <5F>4<> D47D45>F>< 

?D>5>F=OE D5L5=<= 6 75<?5GEFD>=EF65 < >444EFD4E (��-3); 

-E?>E>5=>EFLN >EGM5EF6?OFL <5D>?D<OF<O ?> D54?<74F<< ?D>5>F=OE D5L5=<= ?> 

75<?5GEFD>=EF6G < >444EFD4< (��-4); 

 
=4GG=>-<EE?54>64F5?LE>4O 45OF5?L=>EFL: 

-E?>E>5=>EFLN ?D>6545=<O < 4=4?<74 D57G?LF4F>6 <EE?54>64=<= 6 75<?5GEFD>=EF65 < 

>444EFD4E (��-5); 

-E?>E>5=>EFLN GG4EF<O 6> 6=54D5=<< D57G?LF4F>6 <EE?54>64=<= < =>6OE D47D45>F>> 

(��-6); 

-E?>E>5=>EFLN <7GG5=<O =4GG=>-F5E=<G5E>>= <=D>D<4F<<, >F5G5EF65==>7> < 

74DG556=>7> >?OF4 <E?>?L7>64=<O 75<?< < <=>= =546<6<<>EF< (��-7); 

 
?D><76>4EF65==>-F5E=>?>7<G5E>4O 45OF5?L=>EFL: 

-E?>E>5=>EFLN <E?>?L7>64FL 7=4=<5 E>6D5<5==OE F5E=>?>7<= E5>D4, 

E<EF5<4F<74F<<, >5D45>F>< < GG5F4 <=D>D<4F<< >5 >5N5>F4E =546<6<<>EF<, E>6D5<5==OE 

75>7D4D<G5E><E < 75<5?L=>-<=D>D<4F<>==OE E<EF5<4E (��-8); 

-E?>E>5=>EFLN <E?>?L7>64FL 7=4=<O > ?D<=F<?4E, ?>>474F5?OE < <5F>4<>4E 

>444EFD>6>= < M>>=><<G5E>>= >F5=>< 75<5?L < 4DG7<E >5N5>F>6 =546<6<<>EF< (��-9); 

-E?>E>5=>EFLN <E?>?L7>64FL 7=4=<O E>6D5<5==OE F5E=>?>7<= ?D< ?D>6545=<< 

75<?5GEFD><F5?L=OE < >444EFD>6OE D45>F (��-10); 
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-E?>E>5=>EFLN <E?>?L7>64FL 7=4=<O E>6D5<5==OE <5F>4<> < F5E=>?>7<= 

<>=<F>D<=74 75<5?L < =546<6<<>EF< (��-11); 

-E?>E>5=>EFLN <E?>?L7>64FL 7=4=<O E>6D5<5==OE F5E=>?>7<= F5E=<G5E>>= 

<=65=F4D<74F<< >5N5>F>6 >4?<F4?L=>7> EFD><F5?LEF64 (��-12). 

 
 

4. ���'���&/, $�������&�$'.-�� %���$����� � �$������&�. 
��$�����&��,���� �$�&�%%� �$� $������&�� ����� '$���/ 

�/%,��� ��$�������/ �������$��& ���$������/ �����&���� 
21.03.02 �����'%&$��%&�� � ����%&$/ 

 
� E>>F65FEF6<< E �D<>47>< �<=>5D=4G>< $>EE<< >F 19.12.2013 7. 7 1367 «�>DO4>> 

>D74=<74F<< < >EGM5EF6?5=<O >5D47>64F5?L=>= 45OF5?L=>EF< ?> >5D47>64F5?L=O< 

?D>7D4<<4< 6OEL57> >5D47>64=<O 3 ?D>7D4<<4< 54>4?46D<4F4, ?D>7D4<<4< E?5F<4?<F5F4, 

?D>7D4<<4< <47<EFD4FGDO» < $��% GD>6=O 6OEL57> >5D47>64=<O 54>4?46D<4F ?> 

=4?D46?5=<N ?>47>F>6>< 21.03.02 �5<?5GEFD>=EF6> < >444EFDO E>45D64=<5 < >D74=<74F<O 

>5D47>64F5?L=>7> ?D>F5EE4 ?D< D54?<74F<< ����� �� D57?4<5=F<DG5FEO D45>G<< 

GG55=O< ??4=>< ?>47>F>6>< 54>4?46D>6 E GG5F>< 57> ?D>D<?O; D45>G<<< ?D>7D4<<4<< 

GG55=OE >GDE>6, ?D54<5F>6, 4<EF<??<= (<>4G?5=); <4F5D<4?4<<, >55E?5G<64NM<<< 

>4G5EF6> ?>47>F>6>< < 6>E?<F4=<O >5GG4NM<EEO; ?D>7D4<<4<< GG55=OE < 

?D><76>4EF65==OE ?D4>F<>; 7>4>6O< >4?5=44D=O< GG55=O< 7D4D<>><, 4 F4>65 

<5F>4<G5E><<< <4F5D<4?4<<, >55E?5G<64NM<<< D54?<74F<N E>>F65FEF6GNM<E 

>5D47>64F5?L=OE F5E=>?>7<=. 

 

4.1 %FDG>FGD4 >5D47>64F5?L=>= ?D>7D4<<O 
 

%FDG>FGD4 ?D>7D4<<O 54>4?46D<4F4 6>?NG45F >5O74F5?L=GN (547>6GN) < 

64D<4F<6=GN G4EF<. %FDG>FGD4 ����� =4?D46?5=<O ?>47>F>6>< 21.03.02 

�5<?5GEFD>=EF6> < >444EFDO E>>F65FEF6G5F ���� G>474==>7> =4?D46?5=<O < 4>?>?=O5FEO 

?GF5< 6>?NG5=<O 6 64D<4F<6=GN G4EFL �?>>4 1 444?F4F<>==OE 4<EF<??<= (<>4G?5=): 

«&5E=>?>7<O E>F<4?L=>= <=F57D4F<< 6 GE?>6<OE >5D47>64F5?L=>= < FDG4>6>= 

45OF5?L=>EF<», «�44?F4F<O > FDG4>6>= 45OF5?L=>EF<». 

�D>7D4<<4 54>4?46D<4F4 E>EF><F <7 E?54GNM<E 5?>>>6: 

�?>> 1 «�<EF<??<=O (<>4G?<)», >>F>DO= 6>?NG45F 4<EF<??<=O (<>4G?<), 

>F=>EOM<5EO > 547>6>= G4EF< ?D>7D4<<O < 4<EF<??<=O (<>4G?<), >F=>EOM<5EO > 55 

64D<4F<6=>= G4EF<. 

�?>> 2 «�D4>F<><», >>F>DO= 6 ?>?=>< >5N5<5 >F=>E<FEO > 64D<4F<6=>= G4EF< 

?D>7D4<<O. 

�?>> 3 «�>EG44DEF65==4O <F>7>64O 4FF5EF4F<O», >>F>DO= 6 ?>?=>< >5N5<5 

>F=>E<FEO > 547>6>= G4EF< ?D>7D4<<O < 7465DL45FEO ?D<E6>5=<5< >64?<D<>4F<<, 

G>474==>= 6 ?5D5G=5 E?5F<4?L=>EF5= < =4?D46?5=<= ?>47>F>6>< 6OEL57> >5D47>64=<O, 

GF65D6445<>< �<=<EF5DEF6>< >5D47>64=<O < =4G>< $>EE<=E>>= $545D4F<<. 

�<EF<??<=O (<>4G?<), >F=>EOM<5EO > 547>6>= G4EF< >5D47>64F5?L=>= ?D>7D4<<O, 

O6?ONFEO >5O74F5?L=O<< 4?O >E6>5=<O >5GG4NM<<EO 6=5 746<E<<>EF< >F =4?D46?5==>EF< 

(?D>D<?O) ?D>7D4<<O 54>4?46D<4F4, >>F>DGN >= >E64<645F. 

�45>D 4<EF<??<= (<>4G?5=), >F=>EOM<EEO > 547>6>= G4EF< ?D>7D4<<O 54>4?46D<4F4, 

4>445<<O >?D545?O5F E4<>EF>OF5?L=> 6 >5N5<5, GEF4=>6?5==>< =4EF>OM<< $��% ��, E 

GG5F>< E>>F65FEF6GNM5= (E>>F65FEF6GNM<E) ?D<<5D=>= (?D<<5D=OE) >E=>6=>= 

(>E=>6=OE) >5D47>64F5?L=>= (>5D47>64F5?L=OE) ?D>7D4<<O (?D>7D4<<). 

�<EF<??<=O (<>4G?<) ?> D<?>E>D<<, <EF>D<<, <=>EFD4==><G O7O>G, 557>?4E=>EF< 

6<7=545OF5?L=>EF< D54?<7GNFEO 6 D4<>4E 547>6>= G4EF< �?>>4 1 «�<EF<??<=O (<>4G?<)» 
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?D>7D4<<O 54>4?46D<4F4. �5N5<, E>45D64=<5 < ?>DO4>> D54?<74F<< G>474==OE 4<EF<??<= 

(<>4G?5=) >?D545?ONFEO 4>445<<5= E4<>EF>OF5?L=>. 

�<EF<??<=O (<>4G?<) ?> D<7<G5E>>= >G?LFGD5 < E?>DFG D54?<7GNFEO 6 D4<>4E: 

- 547>6>= G4EF< �?>>4 1 «�<EF<??<=O (<>4G?<)» ?D>7D4<<O 54>4?46D<4F4 6 >5N5<5 

=5 <5=55 72 4>445<<G5E><E G4E>6 (2 74G5F=O5 54<=<FO) 6 >G=>= D>D<5 >5GG5=<O; 

- M?5>F<6=OE 4<EF<??<= (<>4G?5=) 6 >5N5<5 =5 <5=55 328 4>445<<G5E><E G4E>6. 

'>474==O5 4>445<<G5E><5 G4EO O6?ONFEO >5O74F5?L=O<< 4?O >E6>5=<O < 6 74G5F=O5 

54<=<FO =5 ?5D56>4OFEO. 

�<EF<??<=O (<>4G?<) ?> D<7<G5E>>= >G?LFGD5 < E?>DFG D54?<7GNFEO 6 ?>DO4>5, 

GEF4=>6?5==>< �>445<<5=. �?O <=64?<4>6 < ?<F E >7D4=<G5==O<< 6>7<>6=>EFO<< 

74>D>6LO �>445<<O GEF4=46?<645F >E>5O= ?>DO4>> >E6>5=<O 4<EF<??<= (<>4G?5=) ?> 

D<7<G5E>>= >G?LFGD5 < E?>DFG E GG5F>< E>EF>O=<O <E 74>D>6LO. 

�<EF<??<=O (<>4G?<), >F=>EOM<5EO > 64D<4F<6=>= G4EF< ?D>7D4<<O 54>4?46D<4F4, < 

?D4>F<>< >?D545?ONF =4?D46?5==>EFL (?D>D<?L) ?D>7D4<<O 54>4?46D<4F4. �45>D 

4<EF<??<= (<>4G?5=), >F=>EOM<EEO > 64D<4F<6=>= G4EF< ?D>7D4<<O 54>4?46D<4F4, < 

?D4>F<> �>445<<O >?D545?O5F E4<>EF>OF5?L=> 6 >5N5<5, GEF4=>6?5==>< $��% ��. �>E?5 

6O5>D4 >5GG4NM<<EO =4?D46?5==>EF< (?D>D<?O) ?D>7D4<<O =45>D E>>F65FEF6GNM<E 

4<EF<??<= (<>4G?5=) < ?D4>F<> EF4=>6<FEO >5O74F5?L=O< 4?O >E6>5=<O >5GG4NM<<EO. 

� �?>> 2 «�D4>F<><» 6E>4OF GG55=4O < ?D><76>4EF65==4O, 6 F>< G<E?5 

?D544<??><=4O, ?D4>F<><. 

&<?O GG55=>= ?D4>F<><: 

?D4>F<>4 ?> ?>?GG5=<N ?5D6<G=OE ?D>D5EE<>=4?L=OE G<5=<= < =46O>>6, 6 F>< 

G<E?5 ?5D6<G=OE G<5=<= < =46O>>6 =4GG=>-<EE?54>64F5?LE>>= 45OF5?L=>EF<. 

%?>E>5O ?D>6545=<O GG55=>= ?D4>F<><: 

EF4F<>=4D=4O; 

6O574=4O. 

&<?O ?D><76>4EF65==>= ?D4>F<><: 

?D4>F<>4 ?> ?>?GG5=<N ?D>D5EE<>=4?L=OE G<5=<= < >?OF4 ?D>D5EE<>=4?L=>= 

45OF5?L=>EF<; 

- F5E=>?>7<G5E>4O ?D4>F<>4; 

- =4GG=>-<EE?54>64F5?LE>4O D45>F4. 

%?>E>5O ?D>6545=<O ?D><76>4EF65==>= ?D4>F<><: 

EF4F<>=4D=4O; 

6O574=4O. 

�D544<??><=4O ?D4>F<>4 ?D>6>4<FEO 4?O 6O?>?=5=<O 6O?GE>=>= >64?<D<>4F<>==>= 

D45>FO < O6?O5FEO >5O74F5?L=>=. 

�D< D47D45>F>5 ?D>7D4<< 54>4?46D<4F4 �>445<<O 6O5<D45F F<?O ?D4>F<> 6 

746<E<<>EF< >F 6<44 (6<4>6) 45OF5?L=>EF<, =4 >>F>DO= (>>F>DO5) >D<5=F<D>64=4 

?D>7D4<<4 54>4?46D<4F4. �>445<<O 6?D465 ?D54GE<>FD5FL 6 ?D>7D4<<5 54>4?46D<4F4 

<=O5 F<?O ?D4>F<> 4>?>?=<F5?L=> > GEF4=>6?5==O< $��% ��. 

'G55=4O < (<?<) ?D><76>4EF65==4O ?D4>F<>< <>7GF ?D>6>4<FLEO 6 EFDG>FGD=OE 

?>4D4745?5=<OE �>445<<<. 

�?O ?<F E >7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO 6O5>D <5EF ?D>E>645=<O 

?D4>F<> 4>?65= GG<FO64FL E>EF>O=<5 74>D>6LO < FD55>64=<O ?> 4>EFG?=>EF<. �O5>D <5EF 

?D>E>645=<O ?D4>F<> 4?O ?<F E >7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO ?D><76>4<FEO E 

GG5F>< E>EF>O=<O 74>D>6LO >5GG4NM<EEO < FD55>64=<= ?> 4>EFG?=>EF<. 

�D4>F<>< 74>D5??ONF 7=4=<O < G<5=<O, ?D<>5D5F45<O5 >5GG4NM<<<EO <=64?<44<< < 

?<F4<< E ��� 6 D57G?LF4F5 >E6>5=<O F5>D5F<G5E><E >GDE>6, 6OD454FO64NF ?D4>F<G5E><5 

=46O>< < E?>E>5EF6GNF >><??5>E=><G D>D<<D>64=<N >5M5>G?LFGD=OE < ?D>D5EE<>=4?L=OE 

>><?5F5=F<= >5GG4NM<EEO E ���. 

� �?>> 3 «�>EG44DEF65==4O <F>7>64O 4FF5EF4F<O» 6E>4<F 74M<F4 6O?GE>=>= 

>64?<D<>4F<>==>= D45>FO, 6>?NG4O ?>47>F>6>G > ?D>F54GD5 74M<FO < ?D>F54GDG 
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74M<FO, 4 F4>65 ?>47>F>6>4 > E44G5 < E44G4 7>EG44DEF65==>7> M>74<5=4 (5E?< >D74=<74F<O 

6>?NG<?4 7>EG44DEF65==O= M>74<5= 6 E>EF46 7>EG44DEF65==>= <F>7>6>= 4FF5EF4F<<). 

�D< D47D45>F>5 ?D>7D4<<O 54>4?46D<4F4 >5GG4NM<<EO >55E?5G<645FEO 6>7<>6=>EFL 

>E6>5=<O 4<EF<??<= (<>4G?5=) ?> 6O5>DG, 6 F>< G<E?5 E?5F<4?L=O5 GE?>6<O <=64?<44< < 

?<F4< E >7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO, 6 >5N5<5 =5 <5=55 30 ?D>F5=F>6 >5N5<4 

64D<4F<6=>= G4EF< �?>>4 1 «�<EF<??<=O (<>4G?<)». 

�>?<G5EF6> G4E>6, >F6545==OE =4 74=OF<O ?5>F<>==>7> F<?4 6 F5?>< ?> �?>>G 1 

«�<EF<??<=O (<>4G?<)» E>EF46?O5F =5 5>?55 40% >F >5M57> >>?<G5EF64 G4E>6 4G4<F>D=OE 

74=OF<=, >F6545==OE =4 D54?<74F<N 44==>7> �?>>4. 

 

4.2 �4?5=44D=O= 7D4D<> GG55=>7> ?D>F5EE4 
 

�>E?54>64F5?L=>EFL D54?<74F<< ����� �� =4?D46?5=<O ?>47>F>6>< 21.03.02 

�5<?5GEFD>=EF6> < >444EFDO ?> 7>44< (6>?NG4O F5>D5F<G5E>>5 >5GG5=<5, ?D4>F<><, 

?D><56GF>G=O5 < 7>EG44DEF65==GN <F>7>6GN 4FF5EF4F<<, >4=<>G?O) ?D<6>4<FEO 6 

D45>G5< GG55=>< ??4=5 (?D54EF46?5= >F45?L=O< 4>>G<5=F><). 
� GG55=>< 7D4D<>5 ����� GGF5=4 >E>54O 4>FG4?L=>EFL 444?F4F<< < 

74>D>6L5E55D565=<O >5GG4NM<EEO <=64?<4>6 E D47?<G=O<< =4DGL5=<O<< =4 <?44L<E 

>GDE4E, >E>55==> ?5D6>>GDE=<>>6. �?O MF>7> =4 <?44L<E (?5D6>< < 6F>D><) >GDE4E ����� 

?D54GE<>FD5=O D4>G?LF4F<6=O5 444?F4F<>==O5 <>4G?<, 6 >>F>DO5 6>?NG5=O, 6 ?5D6GN 

>G5D54L, F4><5 D4745?O >4> ?D>D>D<5=F4F<O, <=D>D<4F<>==O5 F5E=>?>7<<, >E=>6O 

E>F<4?L=>-?D46>6OE 7=4=<=. 

�7GG5=<5 >E=>6 E>F<4?L=>-?D46>6OE 7=4=<= =>E<F ?D4>F<G5E>GN =4?D46?5==>EFL < 

E>7445F >E=>6G 4?O E>F<4?L=>= ?>445D6>< >5GG4NM57>EO, D476<F<O 57> 45OF5?L=>EF< < 

<=<F<4F<6O, 6 F>< G<E?5 ?D< 5G4GM5< FDG4>GEFD>=EF65. 

�4DO4G E MF<< 444?F4F<>==O5 <>4G?<, 6=5ET==O5 6 GG55=O= 7D4D<> 6 ?5D6OE G5FODTE 

E5<5EFD4E �����, <<5NF <>4G?< ?D54<5F=>= ?>445D6>< 547>6OE >5D47>64F5?L=OE <>4G?5=. 

 

4.3 $45>G<= GG55=O= ??4= ?>47>F>6>< 54>4?46D4 
 

'G55=O= ??4= ����� D47D45>F4= =4 >E=>65 GG55=>7> ??4=4 E>>F65FEF6GNM57> 
=4?D46?5=<O ?>47>F>6>< ?GF5< 6>?NG5=<O 6 =57> 444?F4F<>==OE <>4G?5= 4<EF<??<= 

«�D>D5EE<>=4?L=>= < FDG4>6>= E>F<4?<74F<< EFG45=F>6-<=64?<4>6». 

� D45>G5< GG55=>< ??4=5 =4?D46?5=<O ?>47>F>6>< 21.03.02 �5<?5GEFD>=EF6> < 

>444EFDO (?D>D<?L - �5<?5GEFD>=EF6>) >F>5D465=4 ?>7<G5E>4O ?>E?54>64F5?L=>EFL 

>E6>5=<O F<>?>6 < D4745?>6 ����� (4<EF<??<=, <>4G?5=, ?D4>F<>), >55E?5G<64NM<E 

D>D<<D>64=<5 >><?5F5=F<=. '>474=4 >5M4O FDG4>5<>>EFL 4<EF<??<=, <>4G?5=, ?D4>F<> 6 

74G5F=OE 54<=<F4E, 4 F4>65 <E >5M4O < 4G4<F>D=4O FDG4>5<>>EFL 6 G4E4E. 

� 547>6>= G4EF< GG55=OE F<>?>6 G>474= ?5D5G5=L 547>6OE <>4G?5= < 4<EF<??<= 6 

E>>F65FEF6<< E FD55>64=<O<< $��% �� ?> 44==><G =4?D46?5=<N ?>47>F>6>< E GG5F>< 

E>>F65FEF6GNM<E ?D<<5D=OE ?D>7D4<< ���� ��. 

� D45>G5< GG55=>< ??4=5 >FD465=O >E=>6=O5 F<?O ?D4>F<> 6 746<E<<>EF< >F 6<4>6 

45OF5?L=>EF<, =4 >>F>DO5 >D<5=F<D>64=4 ����� �� =4?D46?5=<O ?>47>F>6>< 21.03.02 

�5<?5GEFD>=EF6> < >444EFDO. 

� D45>G5< GG55=>< ??4=5 >FD465=> >>?<G5EF6> G4E>6, >F6545==OE =4 74=OF<O 

?5>F<>==>7> F<?4 6 >5N5<5 =5 5>?55 40 ?D>F5=F>6 >F >5M57> >>?<G5EF64 G4E>6 

4G4<F>D=OE 74=OF<= 6 E>>F65FEF6<< E FD55>64=<O<< $��% �� =4?D46?5=<O ?>47>F>6>< 

21.03.02 �5<?5GEFD>=EF6> < >444EFDO. 

$45>G<= GG55=O= ??4= E>>F65FEF6G5F FD55>64=<O< $��% �� ?> =4?D46?5=<N 

?>47>F>6>< 21.03.02 �5<?5GEFD>=EF6> < >444EFDO. �?O >464>= 4<EF<??<=O, <>4G?O, 

?D4>F<>< 6 GG55=>< ??4=5 G>474=O 6<4O GG55=>= D45>FO < D>D<O ?D><56GF>G=>= 

4FF5EF4F<< (?D54EF46?5=  >F45?L=O< 4>>G<5=F><). 
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�D><5 F>7>, E F5?LN 74>D>6L5E55D565=<O, GG55=O= ??4= ����� ?D54GE<4FD<645F, GF> 

4<EF<??<=O 1 >GDE4 ���� >E64<645FEO ?<F4<< E ��� < <=64?<4=>EFLN ����� 74 464 7>44 

(=4 1 < 2 >GDE4E). 

�44?F4F<>==O5 <>4G?< ?D54=47=4G5=O 4?O D>D<<D>64=<O >><?5F5=F<=, 

<<=<<<7<DGNM<E 6?<O=<5 >7D4=<G5=<= 74>D>6LO >5GG4NM<EEO <=64?<4>6 < ?<F E ��� =4 

4>EF<65=<5 74??4=<D>64==OE D57G?LF4F>6 >E6>5=<O >5D47>64F5?L=>= ?D>7D4<<O. 

-F< <>4G?< F4>65 «?>445D6<64NF» <7GG5=<5 547>6>= < 64D<4F<6=>= G4EF< 

>5D47>64F5?L=>= ?D>7D4<<O, 5G4GG< =4?D46?5==O<< =4 444?F4F<N, E>F<4?<74F<N < 

?D>D5EE<>=4?<74F<N >5GG4NM<EEO, E?>E>5EF6GNF <E 445>64F=><G ?D>D5EE<>=4?L=><G 

E4<>>?D545?5=<N, 6>7<>6=>EF< E4<>EF>OF5?L=>7> ?>EFD>5=<O >5D47>64F5?L=>= FD45>F>D<<. 

�5447>7<G5E>4O =4?D46?5==>EFL 444?F4F<>==OE <>4G?5= 3 E>45=EF6<5 ?>?=>F5==><G 

D>D<<D>64=<N G ?<F E >7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO < <=64?<4>6 E<EF5<O 

E?5F<4?L=OE >><?5F5=F<=, =5>5E>4<<OE =5 F>?L>> 4?O GE?5L=>7> >E6>5=<O ?D>7D4<<O 

?>47>F>6>< 6 F5?>< ?> 6O5D4==><G =4?D46?5=<N, => < 4?O ?>E?54GNM57> GE?5L=>7> 

FDG4>GEFD>=EF64. 

�>DD5>F<>==4O =4?D46?5==>EFL 444?F4F<>==OE <>4G?5= 3 D476<F<5 < 74>D5??5=<5 

>E=>6=OE GG55=OE G<5=<=, D476<F<5 ?<G=>EF=OE M<>F<>=4?L=>-6>?56OE, <=F5??5>FG4?L=OE < 

?>7=464F5?L=OE >4G5EF6 G >5GG4NM<EEO <=64?<4>6. %GM5EF65==4O E>EF46?ONM4O MF>= 

=4?D46?5==>EF< 444?F4F<>==OE <>4G?5= 3 74>D>6L5E55D565=<5 < >><?5=E4F<O =54>EF4F>>6 

?D54O4GM<E GD>6=5= >5GG5=<O, >>DD5>F<>==4O ?><>ML E> EF>D>=O ?5447>7>6 �>445<<<. 

�>445<<O >>47O645F >64?<D<F<D>64==>5 E>45=EF6<5 445>64F=><G 6O5>DG 

444?F4F<>==OE <>4G?5= >5GG4NM<<<EO <=64?<44<< E GG5F>< >F5=>< >E>55==>EF5= <E 

?E<E>D<7<G5E>>7> D476<F<O < <=4<6<4G4?L=OE >5D47>64F5?L=OE ?>FD55=>EF5=. 

% F5?LN >E6>5=<O MF<E <>4G?5= �>445<<O =4 ?5D6>< < 6F>D>< 7>44E >5GG5=<O ?> 

����� E>744TF >F45?L=O5 E6>4=O5 7DG??O >5GG4NM<EEO <=64?<4>6 E =4DGL5=<5 E?GE4 < 

E>>F65FEF65==> >D74=<7G5F D4E?<E4=<5 74=OF<= 4?O >464>= 7DG??O. 

�?O >E6>5=<O �����, 6 F>< G<E?5 444?F4F<>==OE <>4G?5=, �>445<<O <E?>?L7G5F 

F4>65 ?>F5=F<4? <=4<6<4G4?L=>= D45>FO E >5GG4NM<<<EO EFG45=F4<<-<=64?<44<<. 

� E>EF46 444?F4F<>==OE <>4G?5= 6E>4OF 4 4<EF<??<=O, D54?<7G5<OE 6 1-4 E5<5EFD4E. 

�44?F4F<>==O5 <>4G?<, 6E>4O 6 D4>G?LF4F<6=GN G4EFL GG55=>7> ??4=4, =5 <<5NF 74GTF=OE 

54<=<F. 

�E>55==>EFLN ����� =4?D46?5=<= ?>47>F>6><, D54?<7G5<OE �>445<<5=, O6?O5FEO F>, 

GF> 6E5 4<EF<??<=O GG55=>7> ??4=4 ���� <<5NF F5 65 74GTF=O5 54<=<FO 6 �����. �>?55 

F>7>, =4 3,4,5 7>44E >5GG5=<O ����� E>>F65FEF6G5F 2,3,4 >GDE4< ����. � MF>F ?5D<>4 6 

�>445<<< >5GG4NM<5EO ?<F4 E <=64?<4=>EFLN < ��� ?D<E>54<=ONFEO > 7DG??4< >5OG=OE 

>5GG4NM<EEO, F> 5EFL >5GG4NFEO ?> ����, E E>ED4=5=<5< 4?O =<E ?D54GE<>FD5==OE ����� 

<5D ?>445D6><. 

 

4.4 $45>G<5 ?D>7D4<<O GG55=OE >GDE>6, ?D54<5F>6, 4<EF<??<= (<>4G?5=) 
 

�4==O= D4745? ����� 4>?>?=O5FEO D45>G<<< ?D>7D4<<4<< 444?F4F<>==OE <>4G?5=, 

>>F>DO5 E>EF46?ONFEO 6 F>< 65 D>D<4F5, GF> < 6E5 D45>G<5 ?D>7D4<<O >5D47>64F5?L=OE 

<>4G?5= ����. 

$45>G<5 ?D>7D4<<O GG55=OE >GDE>6, 4<EF<??<= (<>4G?5=) >?D545?ONF F5?< < 

7444G< 4<EF<??<=, <5EF> 4<EF<??<=O 6 EFDG>FGD5 ����� ��, FD55>64=<O > D57G?LF4F4< 

>E6>5=<O 4<EF<??<=O, >5N5< 4<EF<??<=O < 6<4O GG55=>= D45>FO, E>45D64=<5 

4<EF<??<=O <?< D4745?>6 4<EF<??<=O, ?D<<5D=O5 F5<4F<>< >GDE>6OE D45>F, GG55=>- 

<5F>4<G5E>>5 < <=D>D<4F<>==>5 >55E?5G5=<5 4<EF<??<=O, <4F5D<4?L=>-F5E=<G5E>>5 

>55E?5G5=<5 4<EF<??<=O, <5F>4<G5E><5 D5>><5=44F<< ?> >D74=<74F<< <7GG5=<O 

4<EF<??<=O. 

�?4=<DG5<O5 D57G?LF4FO >5GG5=<O ?> >464>= 4<EF<??<=5 (<>4G?N) - 7=4=<O, 

G<5=<O, =46O><, E4D4>F5D<7GNM<5 MF4?O D>D<<D>64=<O >><?5F5=F<= < >55E?5G<64NM<5 

4>EF<65=<5 ??4=<DG5<OE D57G?LF4F>6 >E6>5=<O GG55=OE >GDE>6, ?D54<5F>6, 4<EF<??<= 

(<>4G?5=) ?D54EF46?5=O >F45?L=O<< ?D<?>65=<O<<. 
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�E5 D45>G<5 ?D>7D4<<O >5D47>64F5?L=OE <>4G?5= 547>6>= < 64D<4F<6=>= G4EF< 

����� 4>?>?=ONFEO D5>><5=44F<O<< ?> ?D<<5=5=<N 4?O >5GG4NM<EEO E D47?<G=O<< 

7DG??4<< =4DGL5=<= >5D47>64F5?L=OE F5E=>?>7<= < ?D54GE<>FD5==>7> <4F5D<4?L=>- 

F5E=<G5E>>7> >55E?5G5=<O. 

 

4.5 �D>7D4<<O ?D4>F<> 
 

� E>>F65FEF6<< E $��% �� D4745? >E=>6=>= >5D47>64F5?L=>= ?D>7D4<<O 

54>4?46D<4F4 «�D4>F<><» O6?O5FEO >5O74F5?L=O< < ?D54EF46?O5F E>5>= 6<4 GG55=OE 
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�44D>6O5 GE?>6<O D54?<74F<< ?D>7D4<<O 54>4?46D<4F4. 
 

$54?<74F<O ���� �� >EGM5EF6?O5FEO DG>>6>4OM<<< < =4GG=>-?5447>7<G5E><<< 

D45>F=<>4<< $���' ��� «�D<<>DE>4O �%%�», 4 F4>65 ?<F4<<, ?D<6?5>45<O<< > 

D54?<74F<< ?D>7D4<<O 54>4?46D<4F4 =4 GE?>6<OE 7D4644=E>>-?D46>6>7> 4>7>6>D4. 

'D>65=L >44D>6>7> ?>F5=F<4?4 6 E>>F65FEF6<< E 45=EF6GNM5= =>D<4F<6=>-?D46>6>= 

547>= E4D4>F5D<7G5FEO 6O?>?=5=<5< E?54GNM<E FD55>64=<=: 

- 4>?O =4GG=>-?5447>7<G5E><E D45>F=<>>6, <<5NM<E >5D47>64=<5, E>>F65FEF6GNM55 

?D>D<?N ?D5?>44645<>= 4<EF<??<=O (<>4G?O), 6 >5M5< G<E?5 =4GG=>-?5447>7<G5E><E 

D45>F=<>>6, D54?<7GNM<E ?D>7D4<<G 54>4?46D<4F4 E>EF46?O5F =5 <5=55 65 ?D>F5=F>6; 

- 4>?O =4GG=>-?5447>7<G5E><E D45>F=<>>6, <<5NM<E GG5=GN EF5?5=L < (<?<) GG5=>5 

764=<5, 6 >5M5< G<E?5 =4GG=>-?5447>7<G5E><E D45>F=<>>6, >55E?5G<64NM<E 

>5D47>64F5?L=O= ?D>F5EE ?> 44==>= >E=>6=>= ?D>D5EE<>=4?L=>= >5D47>64F5?L=>= 

?D>7D4<<5 E>EF46?O5F =5 <5=55 60 ?D>F5=F>6; 

- 4>?O =4GG=>-?5447>7<G5E><E D45>F=<>>6 (6 ?D<6545==OE > F5?>G<E?5==O< 

7=4G5=<O< EF46>>) <7 G<E?4 DG>>6>4<F5?5= < D45>F=<>>6 >D74=<74F<=, 45OF5?L=>EFL 

>>F>DOE E6O74=4 E =4?D46?5==>EFLN (?D>D<?5<) D54?<7G5<>= ?D>7D4<<O <47<EFD4FGDO 

(<<5NM<E EF46 D45>FO 6 44==>= ?D>D5EE<>=4?L=>= >5?4EF< =5 <5=55 3 ?5F) 6 >5M5< 

G<E?5 D45>F=<>>6, D54?<7GNM<E ?D>7D4<<G 54>4?46D<4F4, E>EF46?O5F =5 <5=55 5 

?D>F5=F>6. 

- >5M55 DG>>6>4EF6> =4GG=O< E>45D64=<5< ?D>7D4<<O 54>4?46D<4F4 =4?D46?5=<O 

21.03.02 �5<?5GEFD>=EF6> < >444EFDO 4>?6=> >EGM5EF6?OFLEO LF4F=O< =4GG=>- 

?5447>7<G5E><< D45>F=<>>< >D74=<74F<<, <<5NM<< GG5=GN EF5?5=L, >EGM5EF6?ONM<< 

E4<>EF>OF5?L=O5 =4GG=>-<EE?54>64F5?LE><5 (F6>DG5E><5) ?D>5>FO (GG4EF6GNM<< 6 

>EGM5EF6?5=<< F4><E ?D>5>F>6) ?> =4?D46?5=<N ?>47>F>6><, <<5NM<< 5657>4=O5 

?G5?<>4F<< ?> D57G?LF4F4< G>474==>= =4GG=>-<EE?54>64F5?LE>>= (F6>DG5E>>=) 

45OF5?L=>EF< 6 654GM<E >F5G5EF65==OE < (<?<) 74DG556=OE D5F5=7<DG5<OE =4GG=OE 

6GD=4?4E < <744=<OE, 4 F4>65 >EGM5EF6?ONM<< 5657>4=GN 4?D>54F<N D57G?LF4F>6 

G>474==>= =4GG=>-<EE?54>64F5?LE>>= (F6>DG5E>>=) 45OF5?L=>EF< =4 =4F<>=4?L=OE < 

<564G=4D>4=OE >>=D5D5=F<OE. 
�D>D5EE>DE>>-?D5?>4464F5?LE><= E>EF46, 4 F4>65 E>FDG4=<>< �>445<<< >7=4>><?5=O E 

?E<E>D<7<G5E><<< >E>55==>EFO<< >5GG4NM<EEO <=64?<4>6 < >5GG4NM<EEO E >7D4=<G5==O<< 

6>7<>6=>EFO<< 74>D>6LO < GG<FO64NF <E ?D< >D74=<74F<< >5D47>64F5?L=>7> ?D>F5EE4. 

�D5?>4464F5?< 4>?6=O 6?445FL ?5447>7<G5E><<< F5E=>?>7<O<< <=>?N7<6=>7> >5GG5=<O 

< <5F>44<< <E <E?>?L7>64=<O 6 D45>F5 E <=>?N7<6=O<< 7DG??4<< >5GG4NM<EEO. 

�5GG5=<5 ?<F E ��� ?D><EE>4<F E GG5F>< <E >E>5OE <=4<6<4G4?L=OE 

?>FD55=>EF5= 6 E>>F65FEF6<< E> E?54GNM<<< ?D<=F<?4<< < =4?D46?5=<O<< D45>FO: 
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1) E>FDG4=<G5EF6> E E>FDG4=<>4<< D4>G?LF5F4 ?> 6>?D>E4< >><D>DF=>7> 

674<<>45=EF6<O E >5GG4NM<<<EO; 

2) EF<<G?<D>64=<5 ?>?=>F5==>7> 674<<>45=EF6<O ?<F4 E ��� E> E65DEF=<>4<< < 

E?>E>5EF6>64=<5 E>>D5=L5= < =4<5>?55 ?>?=>= 444?F4F<< 6 EFG45=G5E>>< >>??5>F<65; 

3) E>5?N45=<5 =5>5E>4<<OE <5F>4<G5E><E FD55>64=<= (>>=FD>?L ?>=<<4=<O EFG45=F>< 

7444=<= < <=EFDG>F<= 4> <E 6O?>?=5=<O < F.4.); 

4) >D74=<74F<O D45>G57> ?D>EFD4=EF64 >5GG4NM57>EO 44==>= >4F57>D<<; 

5) 6>?NG5=<5 >5GG4NM57>EO <=64?<44, >5GG4NM57>EO E ��� 6 >5GG5=<5 E 

<E?>?L7>64=<5< E?5F<4?L=OE >5D47>64F5?L=OE F5E=>?>7<=. 

� D54?<74F<< ����� ?D54GE<>FD5=> ?D<6?5G5=<5 FLNF>D>6, ?E<E>?>7>6 (?5447>7>6- 

?E<E>?>7>6), E>F<4?L=OE ?5447>7>6, E?5F<4?<EF>6 ?> F5E=<G5E><< ED54EF64< D545<?<F4F<< < 

?D>7D4<<=O< ED54EF64< >5GG5=<O, 4 F4>65 EGD4>?5447>7>6, EGD4>?5D56>4G<>>6 

(?5D56>4G<>>6-44>F<?>?>7>6). 

�>?O ?5447>7<G5E><E >44D>6 �>445<<<, <<5NM<E >?OF < ?D>L54L<E ?>6OL5=<5 

>64?<D<>4F<< ?> 6>?D>E4< >5GG5=<O <=64?<4>6 E D47?<G=O<< 7DG??4<< =4DGL5=<=, 

E>EF46?O5F 5>?55 80% 

%6545=<O > ?D>D5EE>DE>>-?D5?>4464F5?LE>>< E>EF465, =5>5E>4<<>< 4?O D54?<74F<< 

>5D47>64F5?L=>= ?D>7D4<<O (?D54EF46?5=O >F45?L=O< 4>>G<5=F><). 

 

5.3 �4F5D<4?L=>-F5E=<G5E>>5 < GG55=>-<5F>4<G5E>>5 >55E?5G5=<5 
>5D47>64F5?L=>= ?D>7D4<<O 

 
�D< D54?<74F<< ����� �� ?> =4?D46?5=<N 21.03.02 �5<?5GEFD>=EF6> < >444EFDO 

<E?>?L7G5FEO <4F5D<4?L=>-F5E=<G5E>4O 5474, >55E?5G<64NM4O ?D>6545=<5 6E5E 6<4>6 

?45>D4F>D=>=, ?D4>F<G5E>>=, 4<EF<??<=4D=>= < <564<EF<??<=4D=>= ?>47>F>6>< < 

=4GG=>-<EE?54>64F5?LE>>= D45>FO >5GG4NM<EEO E ��� < <=64?<4=>EFLN, 

?D54GE<>FD5==OE GG55=O< ??4=><. 
%>744=<5 55754DL5D=>= ED54O 4?O >5GG4NM<EEO E ��� < <=64?<4=>EFLN 6 >>D?GE4E 

�>445<<< < EFG45=G5E><E >5M56<F<OE 6>?NG45F E<EF5<O E<7=4?<74F<< < >?>65M5=<O, 

>5>DG4>64=<5 E?5F<4?L=OE GG55=OE <5EF 6 4G4<F>D<OE, 5<5?<>F5>5, >><=4F4E >5M56<F<= < 

<=OE ?><5M5=<OE. 

�4F5D<4?L=>-F5E=<G5E>4O 5474 6>?NG45F: 

- 744=<O < ?><5M5=<O, =4E>4OM<5EO G �'�4 =4 ?D464E >?5D4F<6=>7> G?D46?5=<O 

(E4<>EF>OF5?L=>7> D4E?>DO65=<O), >D>D<?5==O5 6 E>>F65FEF6<< E 45=EF6GNM<<< 

FD55>64=<O<<; 

- 4G4<F>D<<, G>><??5>F>64==O5 E?5F<4?<7<D>64==>= <555?LN < F5E=<G5E><<< 

ED54EF64<< >5GG5=<O 4?O ?D>6545=<O 74=OF<= ?5>F<>==>7> F<?4, 74=OF<= E5<<=4DE>>7> 

F<?4, >GDE>6>7> ?D>5>F<D>64=<O, 7DG??>6OE < <=4<6<4G4?L=OE >>=EG?LF4F<=, F5>GM57> 

>>=FD>?O, ?D><56GF>G=>= 4FF5EF4F<<, 4 F4>65 4G4<F>D<< 4?O E4<>EF>OF5?L=>= D45>FO; 

- 4G4<F>D<<, ?D54=47=4G5==O5 4?O ?D>6545=<O 74=OF<= ?5>F<>==>7> F<?4, 

>E=4M5==O5 =45>D4<< 45<>=EFD4F<>==>7> >5>DG4>64=<O < GG55=>-=47?O4=O<< 

?>E>5<O<<, >55E?5G<64NM<5 F5<4F<G5E><5 <??NEFD4F<<, E>>F65FEF6GNM<5 D45>G<< 

GG55=O< ?D>7D4<<4< 4<EF<??<= (<>4G?5=); 

- ?45>D4F>D<<, >E=4M5==O5 ?45>D4F>D=O< >5>DG4>64=<5<, 6 746<E<<>EF< >F EF5?5=< 

E?>6=>EF<; 

- ?><5M5=<O 4?O E4<>EF>OF5?L=>= D45>FO >5GG4NM<EEO, >E=4M5==O5 

>><?LNF5D=>= F5E=<>>= E 6>7<>6=>EFLN ?>4>?NG5=<O > E5F< «�=F5D=5F» < >55E?5G5=<5< 

4>EFG?4 6 M?5>FD>==GN <=D>D<4F<>==>->5D47>64F5?L=GN ED54G >D74=<74F<<; 

- 6OG<E?<F5?L=>5, F5?5>><<G=<>4F<>==>5 >5>DG4>64=<5 < ?D>7D4<<=O5 ED54EF64, 

=5>5E>4<<O5 4?O D54?<74F<< ���� < >55E?5G5=<O D<7<G5E>>7> 4>EFG?4 > 

<=D>D<4F<>==O< E5FO<, <E?>?L7G5<O< 6 >5D47>64F5?L=>< ?D>F5EE5 < =4GG=>- 

<EE?54>64F5?LE>>= 45OF5?L=>EF<; 
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- ?D464 =4 >5N5>FO <=F5??5>FG4?L=>= E>5EF65==>EF<, =5>5E>4<<O5 4?O 

>EGM5EF6?5=<O >5D47>64F5?L=>7> ?D>F5EE4 < =4GG=>-<EE?54>64F5?LE>>= 45OF5?L=>EF<; 

- 547O GG55=>= < ?D><76>4EF65==>= ?D4>F<>; 

- >?OF=>5 ?>?5   $���' ��� «�D<<>DE>4O �%%�» 3 278 74 ?4E>F=OE 75<5?L. 

- ED54EF64 >55E?5G5=<O FD4=E?>DF=O<< GE?G74<< ?D< ?D>6545=<< ?>?56OE ?D4>F<> < 

4DG7<E 6O574=OE 6<4>6 74=OF<= E> EFG45=F4<<; 

- 4DG7<5 <4F5D<4?L=>-F5E=<G5E><5 D5EGDEO. 

�?O E4<>EF>OF5?L=>= D45>FO >464O= >5GG4NM<=EO >55E?5G5= D45>G<< <5EF>< 6 

>><?LNF5D=>< >?4EE5 E 6OE>4>< 6 �=F5D=5F < 4>EFG?>< 6 M?5>FD>==>->5D47>64F5?L=GN 

ED54G >D74=<74F<< 5>?55 200 G4E>6 6 7>4. 

�G7 >55E?5G5= =5>5E>4<<O< >><??5>F>< ?<F5=7<>==>7> ?D>7D4<<=>7> 

>55E?5G5=<O, 6 G4EF=>EF<: MS Windows 7, MS Office 2016, Bandzip,   Adobe Acrobat 

Reader, DC CD BurnerXP, Adobe Flash Player, Google Chrome, �=F<6<DGE �4E?5DE>>7>, 1C 

8.3 < 4D. 
�G4<F>D<<, 6 >>F>DOE >5GG4NFEO EFG45=FO E =4DGL5=<O<< D47=OE =>7>?>7<G5E><E 

D>D< >5>DG4>64=O >><?LNF5D=>= F5E=<>>=, 4G4<>F5E=<>>= (4>GEF<G5E><= GE<?<F5?L < 

>>?>=><), 6<45>F5E=<>>= (<G?LF<<54<==O= ?D>5>F>D, ??47<5==O= M>D4=), M?5>FD>==>= 

4>E>>=, 4>>G<5=F->4<5D>=, <G?LF<<54<==>= E<EF5<>=. 

�5GG5=<5 ?<F E =4DGL5=<O<< E?GE4 ?D54?>?4745F <E?>?L7>64=<5 <G?LF<<54<==OE 

ED54EF6 < 4DG7<E F5E=<G5E><E ED54EF6 4?O ?D<5<4-?5D544G< GG55=>= <=D>D<4F<< 6 

4>EFG?=OE D>D<4E. 

�E=>6=4O ?D>D5EE<>=4?L=4O >5D47>64F5?L=4O ?D>7D4<<4 >55E?5G5=4 GG55=>- 

<5F>4<G5E>>= 4>>G<5=F4F<5= < <4F5D<4?4<< (M?5>FD>==O<< GG55=>-<5F>4<G5E><<< 

>><??5>E4<<) ?> 6E5< GG55=O< >GDE4<, 4<EF<??<=4< (<>4G?O<). 
�E5 GG55=O5 <>4G?< ����� >55E?5G<645FEO GG55=>-<5F>4<G5E>>= 4>>G<5=F4F<5= < 

GG55=>-<5F>4<G5E><<< >><??5>E4<<. �?O >>=F4>F=>= < E4<>EF>OF5?L=>= D45>FO EFG45=F>6 

<E?>?L7GNFEO <G?LF<<54<==O5 >><??5>EO, M?5>FD>==O5 GG55=<>< < GG55=O5 ?>E>5<O, 

444?F<D>64==O5 > >7D4=<G5=<O< 74>D>6LO >5GG4NM<EEO. �=54G4<F>D=4O D45>F4 

>5GG4NM<EEO E>?D>6>6445FEO <5F>4<G5E><< >55E?5G5=<5< E >5>E=>64=<5< 6D5<5=<, 

74FD4G<645<>7> =4 55 6O?>?=5=<5. 

�5GG4NM<5EO E >7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO < <=64?<4O, 6 >F?<G<5 >F 

>EF4?L=OE, <<5NF E6>< E?5F<D<G5E><5 >E>55==>EF< 6>E?D<OF<O, ?5D5D45>F>< <4F5D<4?4, 

6O?>?=5=<O ?D><56GF>G=OE < <F>7>6OE D>D< >>=FD>?O 7=4=<=. �5GG4NM<5EO E ��� < 

<=64?<4O <<5NF 4>EFG? > <4F5D<4?4< < >55E?5G5=O ?5G4F=O<< < M?5>FD>==O<< 

>5D47>64F5?L=O<< D5EGDE4<< (?D>7D4<<O, GG55=<><, GG55=O5 ?>E>5<O, <4F5D<4?O 4?O 

E4<>EF>OF5?L=>= D45>FO < F. 4.) 6 D>D<4E, 444?F<D>64==OE > >7D4=<G5=<O< <E 74>D>6LO < 

6>E?D<OF<O <=D>D<4F<<: 

�?O ?<F E =4DGL5=<O<< 7D5=<O: 

- 6 ?5G4F=>= D>D<5 G65?<G5==O< LD<DF><, 

- 6 D>D<5 M?5>FD>==>7> 4>>G<5=F4, 

- 6 D>D<5 4G4<>D4=?4, 

- 6 ?5G4F=>= D>D<5 =4 O7O>5 �D4=?O. 

�?O ?<F E =4DGL5=<O<< E?GE4: 

- 6 ?5G4F=>= D>D<5, 

- 6 D>D<5 M?5>FD>==>7> 4>>G<5=F4. 

�?O ?<F E =4DGL5=<O<< >?>D=>- 46<74F5?L=>7> 4??4D4F4: 

- 6 ?5G4F=>= D>D<5, 

- 6 D>D<5 M?5>FD>==>7> 4>>G<5=F4, 

- 6 D>D<5 4G4<>D4=?4. 

�4==O= ?5D5G5=L <>65F 5OFL >>=>D5F<7<D>64= 6 746<E<<>EF< >F >>=F<=75=F4 

>5GG4NM<EEO. 
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%>45D64=<5 444?F4F<>==OE <>4G?5= D47<5M45FEO 6 ?>>4?L=>= <=D>D<4F<>==>- 

>><<G=<>4F<>==>= E5F< �>445<<<. 

�<5?<>F5G=O= D>=4 G>><??5>F>64= ?5G4F=O<< </<?< M?5>FD>==O<< <744=<O<< <7 

D4EG5F4 =5 <5=55 50 M>75<??OD>6 >464>7> <744=<O<< >E=>6=>= ?<F5D4FGDO, 

?5D5G<E?5==>= 6 D45>G<E ?D>7D4<<4< 4<EF<??<= (<>4G?5=), ?D4>F<> < =5 <5=55 25 

M>75<??OD>6 4>?>?=<F5?L=>= ?<F5D4FGDO =4 100 >5GG4NM<EEO. 

$>=4 4>?>?=<F5?L=>= ?<F5D4FGDO ?><<<> GG55=>=, GG55=>-<5F>4<G5E>>= 6>?NG45F 

=4GG=O5, E?D46>G=>-5<5?<>7D4D<G5E><5, =>D<4F<6=>-F5E=<G5E><5 <744=<O < 

?5D<>4<G5E><5 <744=<O 6 D4EG5F5 122 M>75<??OD4 =4 100 >5GG4NM<EEO. 
�<5?<>F5G=O= D>=4 ?><<<> GG55=>= ?<F5D4FGDO 6>?NG45F >D<F<4?L=O5, E?D46>G=>- 

5<5?<>7D4D<G5E><5 < ?5D<>4<G5E><5 <744=<O. 

� E>>F65FEF6<< E FD55>64=<O<< 74>>=>44F5?LEF64 $>EE<=E>>= $545D4F<< >5 

<=F5??5>FG4?L=>= E>5EF65==>EF< < <564G=4D>4=OE 4>7>6>D>6 $>EE<=E>>= $545D4F<< >5 

<=F5??5>FG4?L=>= E>5EF65==>EF< >5GG4NM<<EO ?D54>EF46?5=4 6>7<>6=>EFL >?5D4F<6=>7> 

?>?GG5=<O < >5<5=4 <=D>D<4F<5= E >F5G5EF65==O<< < 74DG556=O<< 6G74<<, < 

>D74=<74F<O<<. 

�55E?5G5= 4>EFG? >464>7> >5GG4NM57>EO: 

- > E>6D5<5==O< ?D>D5EE<>=4?L=O< 5474< 44==OE, <=D>D<4F<>==O< E?D46>G=O< < 

?><E>>6O< E<EF5<4<; 

- > =4GG=>=, GG55=>=, GG55=>-<5F>4<G5E>>=, E?D46>G=>=, ?5D<>4<G5E>>= ?<F5D4FGD5 

< 4DG7<< 6<44< <744=<=, =5>5E>4<<OE 4?O D54?<74F<< >5D47>64F5?L=>7> ?D>F5EE4 ?> 

6E5< 4<EF<??<=4< ���� 6 E>>F65FEF6<< E =>D<4F<64<<, GEF4=>6?5==O<< $��% ��; 

- > M?5>FD>==>= 5<5?<>F5>5   $���' ��� «�D<<>DE>4O �%%�». 

�464O= >5GG4NM<=EO >55E?5G5= 4>EFG?>< <7 ?N5>= F>G><, 6 >>F>D>= <<55FEO 

4>EFG? > E5F< �=F5D=5F, > M?5>FD>==>-5<5?<>F5G=O< E<EF5<4< <744F5?LEF64 «�4=L», 

«AgriLib», M?5>FD>==>= 5<5?<>F5>5 4<EE5DF4F<= < 46F>D5D5D4F>6 $��, =4GG=>= 

M?5>FD>==>= 5<5?<>F5>5 eLIBRARY.RU, E>45D64M<E <744=<O ?> >E=>6=O< <7GG45<O< 

4<EF<??<=4< < ED>D<<D>64==O<< ?> E>7?4E>64=<N E ?D46>>5?444F5?O<< GG55=>= < 

GG55=>-<5F>4<G5E>>= ?<F5D4FGDO. 

�5GG4NM<5EO 6 D4<>4E 44==>= ���� ��, <<5NF 6>7<>6=>EFL ?>?L7>64FLEO 

M?5>FD>==>= 5<5?<>F5>>= $���' ��� «�D<<>DE>4O �%%�» < M?5>FD>==>= 

<=D>D<4F<>==>->5D47>64F5?L=>= ED54>= �>445<<< (http://de.primacad.ru), >>F>DO5 

>55E?5G<64NF 4>EFG? > D45>G<< ?D>7D4<<4< 4<EF<??<= (<>4G?5=), ?D4>F<>, > GG55=>- 

<5F>4<G5E><< <4F5D<4?4<, > M?5>FD>==O< >5D47>64F5?L=O< D5EGDE4<, G>474==O< 6 

D45>G<E ?D>7D4<<4E 4<EF<??<= (<>4G?5=), ?D4>F<>. 

�5GG4NM<5EO ?>?GG4NF G44?5==O= 4>EFG? > <=D>D<4F<>==><G M?5>FD>==><G 

D5EGDEG �$��% (M?5>FD>==O= >4F4?>7), 6>?NG4NM5<G 6 E55O >=<7<, 6GD=4?O < 

>>??5>F<< =4GG=OE, GG55=OE, GG55=>-<5F>4<G5E><E D45>F ?D5?>4464F5?5=. 
�464O= >5GG4NM<=EO E <E?>?L7>64=<5< E?5F<4?L=OE F5E=<G5E><E < ?D>7D4<<=OE 

ED54EF6 >55E?5G<645FEO <=4<6<4G4?L=O< =5>7D4=<G5==O< 4>EFG?>< > M?5>FD>==>= 

<=D>D<4F<>==>->5D47>64F5?L=>= ED545 �>445<<<, E>45D64M5= M?5>FD>==O5 >5D47>64F5?L=O5 

D5EGDEO, ?5D5G<E?5==O5 6 D45>G<E ?D>7D4<<4E <>4G?5= (4<EF<??<=), ?D4>F<>. 

�>EFG? > <=D>D<4F<>==O< < 5<5?<>7D4D<G5E><< D5EGDE4< �>445<<< >55E?5G<645F 4?O 

>464>7> >5GG4NM57>EO ?D54>EF46?5=<5 5<G =5 <5=55 G5< >4=>7> GG55=>7>, <5F>4<G5E>>7> 

?5G4F=>7> < (<?<) M?5>FD>==>7> <744=<O ?> >464><G GG55=><G <>4G?N 6 D>D<5, 

444?F<D>64==>= > >7D4=<G5=<O< 57> 74>D>6LO < >E=4M5=O E?5F<4?L=O< >5>DG4>64=<5< < 

GG55=O<< <5EF4<< E F5E=<G5E><<< ED54EF64<< >5GG5=<O 4?O EFG45=F>6 E =4DGL5=<O<< 

D47=OE =>7>?>7<G5E><E 7DG??. 

�>445<<O >55E?5G5=4 =5>5E>4<<O< >><??5>F>< ?D>7D4<<=>7> >55E?5G5=<O, 

444?F<D>64==O< 4?O >5GG4NM<EEO <=64?<4>6. �D< =5>5E>4<<>EF< ?<F5=7<D>64=<O 

E?5F<4?L=>7> ?D>7D4<<=>7> >55E?5G5=<O �>445<<O >55E?5G<645F >>?<G5EF6> ?<F5=7<=, 

=5>5E>4<<>5 4?O >55E?5G5=<O 4G4<F>D=>= < E4<>EF>OF5?L=>= D45>FO >5GG4NM<EEO 

<=64?<4>6. 
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�4F5D<4?L=>-F5E=<G5E>>5 < GG55=>-<5F>4<G5E>>5 >55E?5G5=<5 >5D47>64F5?L=>= 

?D>7D4<<O ?D54EF46?5=> >F45?L=O< 4>>G<5=F><. 

 
 

5.4 $<=4=E>6O5 GE?>6<O D54?<74F<< >5D47>64F5?L=>= ?D>7D4<<O 
 

$<=4=E>6>5 >55E?5G5=<5 D54?<74F<< ?D>7D4<<O 54>4?46D<4F4 >EGM5EF6?O5FEO 

�<=<EF5DEF6>< E5?LE>>7> E>7O=EF64 $>EE<=E>>= $545D4F<<. �E=>6>= D<=4=E>6>7> 

>55E?5G5=<O O6?O5FEO 7>EG44DEF65==>5 7444=<5 =4 D54?<74F<N >5D47>64F5?L=OE GE?G7. 

�>D<4F<6O D<=4=E>6>7> >55E?5G5=<O GG<FO64NF FDG4>5<>>EFL >5D47>64F5?L=>= GE?G7< 

?> =4?D46?5=<N ?>47>F>6><, 4 F4>65 >>DD5>F<DGNM<5 >>MDD<F<5=FO, >FD464NM<5 

>E>55==>EF< >>474=<O >5D47>64F5?L=OE GE?G7. 

 

 
6. %�$��&�$�%&��� %�&���'�,&'$��� %$��/ ��$�����&��,��� 

�$������&��, ���%��'���.-�� $�$��$������ �����&��&�� 

��''�.-�%%/ % ��� � ���������%&,. 
 
 

� $���' ��� «�D<<>DE>4O �%%�» E>744=O 5?47>?D<OF=O5 GE?>6<O 4?O D476<F<O 

?<G=>EF< < D57G?<D>64=<O E>F<4?L=>->G?LFGD=OE ?D>F5EE>6, E?>E>5EF6GNM<E 

G>D5??5=<N =D46EF65==OE, 7D4644=EF65==OE, >5M5>G?LFGD=OE >4G5EF6 >5GG4NM<EEO. 

$54?<74F<O E<EF5<O D476<F<O E>F<4?L=>-?<G=>EF=OE >><?5F5=F<= >5GG4NM<EEO, 

>6?44564NM<E >E=>6=>= ?D>D5EE<>=4?L=>= >5D47>64F5?L=>= ?D>7D4<<>=, 

?D54GE<4FD<645F <E?>?L7>64=<5 6E5E <<5NM<EEO 6>7<>6=>EF5=, >4> �=EF<FGF4 

75<?5GEFD>=EF64 < 47D>F5E=>?>7<=, F4> < �>445<<< 6 F5?><. 

����� >55E?5G<645F 74>D>6L5E55D574NM55 6E>645=<5 ?<F E ��� < <=64?<4=>EFLN 

6 >E>5GN >5D47>64F5?L=GN < E>F<>>G?LFGD=GN ED54G �>445<<<, E>7445F < ?>MF4?=> 

D4EL<DO5F 547G 4?O <E 444?F4F<<. �4DO4G E ?>?GG45<O<< 7=4=<O<< D476<64NFEO 

>5M5EF65==O5 =46O>< <=64?<44, >>??5>F<6<7<, >D74=<74F>DE><5 E?>E>5=>EF<, G<5=<5 

=4?46<64FL >>=F4>FO < E>FDG4=<G4FL E D47=O<< ?N4L<<. $>D<<DG5<>5 <<D>6>77D5=<5 < 

7D4644=E>4O ?>7<F<O =4DO4G E >E64<645<O<< >><?5F5=F<O<< E>744NF >5GG4NM5<GEO E 

<=64?<4=>EFLN =5>5E>4<<GN >E=>6G 4?O ?>E?54GNM57> FDG4>GEFD>=EF64. 

�46=O< D4>F>D>< E>F<4?L=>= 444?F4F<< >5GG4NM<EEO E <=64?<4=>EFLN O6?O5FEO 

<=4<6<4G4?L=4O ?>445D6>4, >>F>D4O =>E<F =4764=<5 «E>?D>6>645=<5». 

%>?D>6>645=<5 6 �>445<<< =>E<F =5?D5DO6=O= < >><??5>E=O= E4D4>F5D: 

3 >D74=<74F<>==>-?5447>7<G5E>>5 E>?D>6>645=<5 =4?D46?5=> =4 >>=FD>?L GG55O 

>5GG4NM<EEO <=64?<4>6 6 E>>F65FEF6<< E 7D4D<>>< GG55=>7> ?D>F5EE4 6 GE?>6<OE 

<=>?N7<6=>7> >5GG5=<O. �EGM5EF6?O5FEO 45>4=4F>< <=EF<FGF4 < >GD4F>D4<< 7DG??; 

3 ?E<E>?>7>-?5447>7<G5E>>5 E>?D>6>645=<5 >EGM5EF6?O5FEO 4?O >5GG4NM<EEO 

<=64?<4>6 E =4DGL5=<O<< D47?<G=OE =>7>?>7<G5E><E 7DG?? E>FDG4=<>4<< �>?>456=>7> 

F5=FD4; 

3 ?D>D<?4>F<G5E><->74>D>6<F5?L=>5 E>?D>6>645=<5 ?D54GE<4FD<645F D5L5=<5 

7444G, =4?D46?5==OE =4 ?>6OL5=<5 444?F4F<>==OE 6>7<>6=>EF5= >5GG4NM<EEO 

<=64?<4>6, ?D>D<?4>F<>G >5>EFD5=<= >E=>6=>7> 745>?564=<O. �D>D<?4>F<G5E><- 

>74>D>6<F5?L=>5 E>?D>6>645=<5 >EGM5EF6?O5FEO E>FDG4=<>>< <54<F<=E>>7> ?G=>F4 

�>445<<< < ?D>DE>N7=O< >><<F5F>< >5GG4NM<EEO. 

� �>445<<< E?>6<?4EL G5F>4O E<EF5<4 G?D46?5=<O <45==>-6>E?<F4F5?L=O< 

?D>F5EE><: >F 4>445<<G5E>>= 7DG??O 3 4> 6G74 6 F5?><. �>E?<F4F5?L=GN D45>FG 6 6G75 

>GD<DG5F ?D>D5>F>D ?> 6>E?<F4F5?L=>= D45>F5, >4=>= <7 7444G >>F>D>7> O6?O5FEO 

>D74=<74F<O < >>>D4<=4F<O ?D>F5EE4 6>E?<F4=<O >5GG4NM<EEO, ?>6OL5=<5 57> 
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MDD5>F<6=>EF<. �>O6<?EO >>>D4<=4F>D 6G7>6E>>= 6>E?<F4F5?L=>= D45>FO 3 E>65F ?> 

6>E?<F4F5?L=>= D45>F5. 

�?O MDD5>F<6=>EF< < D57G?LF4F<6=>EF< 6>E?<F4F5?L=>= 45OF5?L=>EF< 6 �>445<<< 

E>744= <=EF<FGF >GD4F>D>6 GG55=OE 7DG??. -F> 445F 6>7<>6=>EFL <E?>?L7>64FL ?D<=F<? 

<=4<6<4G4?L=>7> ?>4E>44, GG<FO64NM57> ?<G=>EF=O5 < 6>7D4EF=O5 >E>55==>EF< >464>7> 

>5GG4NM57>EO. 

� >5O74==>EF< >GD4F>D>6 6E>4<F: ?D>6545=<5 >GD4F>DE>>7> G4E4; >>474=<5 ?><>M< 

?5D6>>GDE=<>4< ?> 444?F4F<< > =>6>= E<EF5<5 >5GG5=<O; E>744=<5 >D74=<7>64==>7>, 

E??>G5==>7> >>??5>F<64 7DG??O; 7=4>><EF6> >5GG4NM<EEO E >D74=<74F<5= GG55=>7> 

?D>F5EE4, 'EF46>< 6G74, ?D46<?4<< ?D>6<64=<O 6 >5M56<F<<, ?D464<< < >5O74==>EFO<< 

>5GG4NM<EEO; D45>F4 E> EF4D>EF4<< 7DG??; ?D>6545=<5 D>4<F5?LE><E >>=D5D5=F<=. 

�E=>6=>= >E>55==>EFLN 6>E?<F4F5?L=>= 45OF5?L=>EF< 6 ��%%� 6OEFG?45F 

?D>5>F=4O 45OF5?L=>EFL, 75=5D4F>D4<< <45= 6OEFG?4NF E4<< >5GG4NM<5EO 4>445<<<. 

� EF5=4E �>445<<< 4>F<6=> D45>F45F %FG45=G5E><= �?G5. �5GG4NM<5EO <>7GF 

6O5D4FL 74=OF<O 6 E5>F<OE < EFG4<OE ?> E6><< <=F5D5E4<: ?>MF<G5E><= >?G5, 6>>4?L=>- 

<G7O>4?L=O5 7DG??O, EFG4<< 6>EF>G=>7> F4=F4, E>6D5<5==>7> F4=F4, DGEE>>7> =4D>4=>7> 

F4=F4, E5>F<O E?>DF<6=>7> >D<5=F<D>64=<O, FGD<EF<G5E><= >?G5 «�D<<>DE><5 54DEO». 

�E5 74=OF<O 6 >?G55 4?O >5GG4NM<EEO ��%%� 55E??4F=O5. 

'E?5L=4O D54?<74F<O 6=5GG55=OE ?D>5>F>6 6G74 4>EF<745FEO 5?47>44DO F><G, GF> 

<<5==> >5GG4NM<5EO O6?ONFEO =5?>ED54EF65==O<< 46F>D4<< < <E?>?=<F5?O<< 44==OE 

?D>5>F>6. �D4<>F=> >D74=<7>64==>5 E>F<4?L=>5 ?D>EFD4=EF6> =5 F>?L>> ?>76>?O5F 

D4E>DOFL < D4EL<D<FL E?>E>5=>EF< <>?>4>7> E?5F<4?<EF4, 4 F4>65 <E?>?L7>64FL 

G=<>4?L=O= >?OF ?D>5>F=>= 45OF5?L=>EF< ?>E?5 6O?GE>4 <7 4>445<<<. �>46>4O <F>7, 

<>6=> E>474FL, GF> 6 �D<<>DE>>= 7>EG44DEF65==>= E5?LE>>E>7O=EF65==>= 4>445<<< 

E>744=O 6E5 GE?>6<O 4?O E4<>D54?<74F<< >5GG4NM57>EO. 

 
 

7 ��$��&����-��&���'�%��� ���%��'���� %�%&��/ �&���� 
��'�%&�� �%�����/ ��''�.-���%/ ����� '$���/ �/%,��� 

��$�������/ �������$��& ���$������/ �����&���� 
21.03.02 �����'%&$��%&�� � ����%&$/ 

 
� E>>F65FEF6<< E $��% �� GD>6=O 6OEL57> >5D47>64=<O 54>4?46D<4F =4?D46?5=<O 

?>47>F>6>< 21.03.02 �5<?5GEFD>=EF6> < >444EFDO >F5=>4 >4G5EF64 >E6>5=<O 

>5GG4NM<<<EO >E=>6=OE >5D47>64F5?L=OE ?D>7D4<< 6>?NG45F F5>GM<= >>=FD>?L 

GE?5645<>EF<, ?D><56GF>G=GN < 7>EG44DEF65==GN <F>7>6GN 4FF5EF4F<N >5GG4NM<EEO. 

�>D<4F<6=>-<5F>4<G5E>>5 >55E?5G5=<5 F5>GM57> >>=FD>?O GE?5645<>EF< < 

?D><56GF>G=>= 4FF5EF4F<< >5GG4NM<EEO ?> ���� �� >EGM5EF6?O5FEO 6 E>>F65FEF6<< E 

&<?>6O< ?>?>65=<5< > 6G75 < 4>?>?=<F5?L=O<< 4>>G<5=F4<<:. 

÷ �>?>65=<5 > <>4G?L=>-D5=F<=7>6>= E<EF5<5 >F5=>< GE?5645<>EF< EFG45=F>6 6 

$���' ��� «�D<<>DE>4O 7>EG44DEF65==4O E5?LE>>E>7O=EF65==4O 4>445<<O», 
GF65D645==>5 D5L5=<5< 'G5=>7> E>65F4 $���' ��� «�D<<>DE>4O �%%�» 26.04. 2010 7. 

÷ �>?>65=<5 > ?D46<?4E 6O44G< < 6545=<O EFG45=G5E>>7> 5<?5F4 < 74GTF=>= >=<6>< 

EFG45=F4, GF65D645==>5 D5L5=<5< 'G5=>7> E>65F4 $���' ��� «�D<<>DE>4O �%%�» 
11.02.2011 7 

÷ �>?>65=<5 > D>=44E >F5=>G=OE ED54EF6, GF65D645==>5 D5L5=<5< 'G5=>7> E>65F4 

$���' ��� «�D<<>DE>4O �%%�» 27.04.2011 7 

÷ �>?>65=<5 >5 4>445<<G5E>>= <>5<?L=>EF< EFG45=F>6, 4E?<D4=F>6 < E>FDG4=<>>6 

$���' ��� «�D<<>DE>4O 7>EG44DEF65==4O E5?LE>>E>7O=EF65==4O 4>445<<O», 

GF65D645==>5 D5L5=<5< 'G5=>7> E>65F4 $��' ��� «�D<<>DE>4O �%%�» 25.04. 2011 7 
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÷ �>?>65=<5 > E4<>EF>OF5?L=>= D45>F5 EFG45=F>6 $���' ��� «�D<<>DE>4O 

7>EG44DEF65==4O E5?LE>>E>7O=EF65==4O 4>445<<O», GF65D645==>5 D5L5=<5< 'G5=>7> 

E>65F4 $���' ��� «�D<<>DE>4O �%%�» 25.04.2011 7. 

÷ �>?>65=<5 > 6O?GE>=OE >64?<D<>4F<>==OE D45>F4E 54>4?46D4, 4<??><<D>64==>7> 

E?5F<4?<EF4, <47<EFD4 6 $���' ��� «�D<<>DE>4O �%%�», GF65D645==>5 D5L5=<5< 
'G5=>7> %>65F4 $���' ��� «�D<<>DE>4O �%%�» 26.11.2012 7. 

÷ �>?>65=<5 > ?5447>7<G5E>>= L>>?5 6 $���' ��� «�D<<>DE>4O �%%�», 

GF65D645==>5 D5L5=<5< 'G5=>7> E>65F4 $���' ��� «�D<<>DE>4O �%%�» 26.11.2012 

÷ �>?>65=<5 > ?>DO4>5 ?5D56>44 EFG45=F>6 =4 <=4<6<4G4?L=O= ??4= >5GG5=<O, 

GF65D645==>5 D5L5=<5< 'G5=>7> %>65F4 $���' ��� «�D<<>DE>4O �%%�» 28.10.2013 7. 

÷ �>?>65=<5 > ?>DO4>5 ?D>6545=<O ?D4>F<>< EFG45=F>6 $���' ��� "�D<<>DE>4O 

�%%�", GF65D645==>5 D5L5=<5< 'G5=>7> E>65F4 $���' ��� «�D<<>DE>4O �%%�» 
26.11.2012 7. 

÷ �>?>65=<5 > ?>DO4>5 ?5D56>44 EFG45=F>6 <7 6OEL<E GG55=OE 746545=<= 6 $���' 

��� «�D<<>DE>4O 7>EG44DEF65==4O E5?LE>>E>7O=EF65==4O 4>445<<O», GF65D645==>5 

D5L5=<5< 'G5=>7> E>65F4 $���' ��� «�D<<>DE>4O �%%�» 27.02.2012 7 

÷ �>?>65=<5 > ?5D56>45 EFG45=F>6 ??4F=>= D>D<O >5GG5=<O =4 <5EF4, 

D<=4=E<DG5<O5 <7 ED54EF6 D545D4?L=>7> 5N465F4, GF65D645==>5 D5L5=<5< 'G5=>7> 

E>65F4 $���' ��� «�D<<>DE>4O �%%�» 24.09.2012 7 

÷ �>?>65=<5 > <5F>4<G5E>>= L>>?5 $���' ��� «�D<<>DE>4O �%%�», 
GF65D645==>5 D5L5=<5< 'G5=>7> %>65F4 $���' ��� «�D<<>DE>4O �%%�» 28.01.2013 

÷ �>?>65=<5 > ?D>6545=<< F5>GM57> >>=FD>?O GE?5645<>EF< < ?D><56GF>G=>= 

4FF5EF4F<< >5GG4NM<EEO 6 $���' ��� «�D<<>DE>4O �%%�», GF65D645==>5 D5L5=<5< 
'G5=>7> %>65F4 $���' ��� «�D<<>DE>4O �%%�» 25.02.2013 7. 

÷ �>?>65=<5 > ?>DO4>5 ?5D56>44 EFG45=F>6 =4 <=4<6<4G4?L=O= ??4= >5GG5=<5, 
GF65D645==>5 D5L5=<5< 'G5=>7> %>65F4 $���' ��� «�D<<>DE>4O �%%�» 28.10.2013 7 

÷ �>?>65=<5 > 6O5>D5 EFG45=F4<< GG55=OE 4<EF<??<= ?D< >E6>5=<< >E=>6=OE 

?D>D5EE<>=4?L=OE >5D47>64F5?L=OE ?D>7D4<< 6OEL57> >5D47>64=<O $���' ��� 

«�D<<>DE>4O �%%�», GF65D645==>5 D5L5=<5< 'G5=>7> E>65F4 $���' ��� «�D<<>DE>4O 

�%%�» 29.05.2014 7 

÷ �>?>65=<5 > ?D>6545=<< >F>DOFOE 74=OF<= 6 $���' ��� «�D<<>DE>4O �%%�», 

GF65D645==>5 D5L5=<5< 'G5=>7> E>65F4 $���' ��� «�D<<>DE>4O �%%�» 24.12.2014 7 

÷ �>?>65=<5 > ?D>6545=<< 7>EG44DEF65==>= <F>7>6>= 4FF5EF4F<< 6 $���' ��� 

«�D<<>DE>4O 7>EG44DEF65==4O E5?LE>>E>7O=EF65==4O 4>445<<O», GF65D645==>5 D5L5=<5< 

'G5=>7> E>65F4 $���' ��� «�D<<>DE>4O �%%�» 30.01.2015 7. 

÷ �>?>65=<5 > ?>DO4>5 >D74=<74F<< < >EGM5EF6?5=<< >5D47>64F5?L=>= 45OF5?L=>EF< 

?> >5D47>64F5?L=O< ?D>7D4<<4< 6OEL57> >5D47>64=<O - ?D>7D4<<4< 54>4?46D<4F4, 

?D>7D4<<4< E?5F<4?<F5F4, ?D>7D4<<4< <47<EFD4FGDO, GF65D645==>5 D5L5=<5< 'G5=>7> 

E>65F4 $���' ��� «�D<<>DE>4O �%%�» 30.01.2015 7. 

÷ �>?>65=<5 > ?>DO4>5 ?D>6545=<O < >5NT<5 ?D>6545=<O 74=OF<= ?> D<7<G5E>>= 

>G?LFGD5 ?D< >E6>5=<< ?D>7D4<< 54>4?46D<4F4 < E?5F<4?<F5F4, GF65D645==>5 D5L5=<5< 
'G5=>7> E>65F4 $���' ��� «�D<<>DE>4O �%%�» 30.01.2015 7 

÷ �>?>65=<5 >5 GE>>D5==>< >5GG5=<< 6 $���' ��� «�D<<>DE>4O �%%�», 

GF65D645==>5 D5L5=<5< 'G5=>7> E>65F4 $���' ��� «�D<<>DE>4O �%%�» 30.01.2015 7 
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